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The following table shows the number of newspapers printed as shown inside the brackets
and the number of newspapers distributed at different cities on a particular date. Answer

the gquestions 1to 5:

Citv-wise Distribution of Newspaper

\\N ewspaper | Newspaper | Newspaper | Newspaper | Newspaper
—> A B C D
Cit}-'¢ (2000) (2000) (1000) (1000)
Delhi 1000 750 320 250
Lucknow 500 250 250 175
Varanasi 200 150 165 155
Jaipur 200 350 135 160

Sub questions

Question Number : 1 Question Id : 5362283621 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which city the distribution of paper 1= mimimum?
()  Jaipur (2) Lucknow

(3) Delhi (4) Varanasi

Options :

53622814101. 1
53622814102.2
53622814103. 3
53622814104. 4

Question Number : 2 Question Id : 5362283622 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the percentage of distributed newspapers compared to printed newspapers?

(1) 83.5% (2) 84.0%
(3) 82.0% (4) 82.5%
Options :

53622814105. 1
53622814106. 2
53622814107. 3
53622814108. 4

Question Number : 3 Question Id : 5362283623 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the percentage of distmbution of newspaper C 1n all the cities as compared to total
number of newspapers distributed?

(1) 16.46% (2) 17.36%
(3) 18.42% (4) 16.36%
Options :

53622814109. 1
53622814110. 2
53622814111. 3
53622814112. 4

Question Number : 4 Question Id : 5362283624 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of distribution of Newspaper A to newspaper B?

(1) 16:15 (2) 1:5
(3) 19: 15 (4) 17:15
Options :

53622814113. 1
53622814114. 2
53622814115. 3
53622814116. 4

Question Number : 5 Question Id : 5362283625 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What is the ratio of total distributed paper to total newspaper printed?

(1) 5:6 (2) 51:60
(3) 167 : 200 (4) bH2:61
Options :

53622814117. 1
53622814118.2
53622814119.3
53622814120. 4

Question Id : 5362283620 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension



feiigs arfersr o T @8 99 % S0 gigd wEmEE T ok 5 (S R e H e e 2) A

P

fafa= w= o faaka e T wamEwE f w2 R 2 | e F SgE WouvE 1 ® 5 1 I
THMEN T | F9EE T | AR T | 99EE T | 5T
Gy T A B C ¢
— ¢ \ (2000) (2000) (1000) (1000)
Taeet 1000 750 320 250
SIELET 500 250 250 1756
T 200 150 165 1556
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Sub questions

Question Number : 1 Question Id : 5362283621 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 Tt § TEEW T S 9T =Aae T | faaiE 6o

1 (2) TET
(3)  faeedt (4) =WTH
Options :

53622814101. 1
53622814102. 2
53622814103. 3
53622814104. 4

Question Number : 2 Question Id : 5362283622 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

What 1s the percentage of distributed newspapers compared to printed newspapers?
(1) 83.5% (2) 84.0%
(3) 82.0% (4) 82.5%

(1) 83.5% (2) 84.0%
(3) 82.0% (4) B82.0%
Options :

53622814105. 1
53622814106. 2
53622814107. 3
53622814108. 4



Question Number : 3 Question Id : 5362283623 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

ot wrzat | faafa i 72 gammeE i ofet fi B gen i gen |1 e C = faata # o ot

(1) 16.46% (2) 17.36%
(3) 18.42% (4) 16.36%
Options :

53622814109. 1
53622814110. 2
53622814111. 3
53622814112. 4

Question Number : 4 Question Id : 5362283624 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
FET

(1) 16:15 2y T:5
(3) 19:15 (4) 17:15
Options :

53622814113. 1
53622814114. 2
53622814115.3
53622814116. 4

Question Number : 5 Question Id : 5362283625 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e

7

(1) H:6 (2) 51:60
(3) 167 : 200 (4) bH2:61
Options :

53622814117. 1
53622814118. 2
53622814119. 3
53622814120. 4

Sub-Section Number : 2
Sub-Section Id : 536228144



Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362283626 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If teaching 1s viewed as a continuum. which of the following moedality, involves active ‘give’
and ‘take between the teacher and learner?

(1) Training (2) Conditioning
(3) Instruction (4) Indoectrination
Options :

53622814121. 1
53622814122.2
53622814123.3
53622814124. 4

Question Number : 6 Question Id : 5362283626 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

B 14 M e e 2 11 = e o | A

(1)  wferem (2) HTFeH

(3)  FF (4) TETOW
Options :

53622814121. 1
53622814122.2
53622814123.3
53622814124. 4

Question Number : 7 Question Id : 5362283627 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the correct sequence from lower to higher, for indicating learning outcomes related

to affective domain?

(A) Recelving

(B) Valuing

(C) Responding
(D) Organization

(E) Characterization

Choose the correct answer from the options given below :

(1) (A). (B). (C), (D) and (E) (Z2) (A), (C). (B). (D) and (E)
(3) (C). (D). (E). (A) and (B) (4) (B). (C), (A). (D) and (E)
Options :

53622814125. 1
53622814126. 2
53622814127. 3
53622814128. 4

Question Number : 7 Question Id : 5362283627 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A). B). (C). (D) = (E) (2)  (A). (C). (B). (D) =1 (E)
(3)  (C). (D). (E). (A) % (B) (4)  (B). (C), (A), (D) #f (E)
Options :

53622814125. 1
53622814126. 2
53622814127. 3
53622814128. 4

Question Number : 8 Question Id : 5362283628 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Ability of an individual or group implies the components of knowledge. skill

and experience.

Statement IT : Willingness of an individual or group implies the components of confidence,

commitment and motivation.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement I1 1s incorrect

(4) Statement I is incorrect but Statement II 1s correct
Options :

53622814129. 1
53622814130. 2
53622814131.3
53622814132. 4

Question Number : 8 Question Id : 5362283628 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622814129. 1
53622814130.2
53622814131.3
53622814132. 4

Question Number : 9 Question Id : 5362283629 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I wath List IT : List I provides the basic management functions to be performed by
a teacher while the List II gives their description.

List I List IT
(A) Planning (Il It involves feedback of results and
follow up to compare
accomplishments.
(B) Organizing (II) It 1involves engagement In task

relevant activities.

(C) Motivating (III) It involves bringing together resources
and people.
(D) Controlling (IV) It involves setting goals and objectives.

Choose the correct answer from the options given below :

(1) (A)-IV), (B)-(III). (C)-(ID), (D)-(I)
(2) (A)-(D). (B)-(IL), (C)-(11I). (D)-(IV)
(3)  (A)-D), (B)-(D). (C)-(IV). (D)-(I1I)
(4) (A)-(ITII), (B)-(IV). (C)-(I). (D)-(II)

Options :

53622814133. 1
53622814134.2
53622814135.3
53622814136. 4

Question Number : 9 Question Id : 5362283629 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Z=-1 1 g=A1-11 5 gofera $ifse : g1 ek grn ot fre =M o g0 weias i/ S9ridl 2 Se s
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I FAT 7 |
(C) =fimw (II) == |E] 79 =0 F1 TRy e 2 |

(1) (A)-(IV), (B)-(III). (C)-(IT), (D)-(I)
(2) (A)-(D). (B)-(IL). (C)-(I1II). (D)-(IV)
(3) (A)-(IT). (B)-(I). (C)-(IV). (D)-(IIT)

(4) (A)-(II1), (B)-(IV). (C)-(I). (D)-(IT)
Options :
53622814133. 1
53622814134.2
53622814135.3
53622814136. 4

Question Number : 10 Question Id : 5362283630 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1= labelled as Assertion (A) and the other 1= labelled as

Reason (R) :

Assertion (A) :  The use of ICT has a great potential for optimising learning outcomes.

Reason (R) : ICT promotes scope for variety. flexibility and attractiveness.

In the light of the above statements. choose the correct answer from the options given below :

(1)

(2)

(3)

(4)

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(A) 18 true but (R) 1s false

(A) 1s false but (R) 1s true

53622814137. 1
53622814138. 2
53622814139. 3
53622814140. 4

Question Number : 10 Question Id : 5362283630 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814137. 1
53622814138. 2
53622814139.3
53622814140. 4

Question Number : 11 Question Id : 5362283631 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the non-probability sampling procedures from the following :

(A) Simple random sampling
(B) Quota sampling

(C) Cluster sampling

(D) Snowball sampling

(E) Dimensional sampling

Choose the correct answer from the options given below :
(1) {A). (B) and (C) only {(2) (B). (C) and (D) only
(3) (B). (D) and (E) only {4y (C). (D) and (E) only

Options :



53622814141. 1
53622814142.2
53622814143.3
53622814144. 4

Question Number : 11 Question Id : 5362283631 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THATATET 5§ SAEEeEAT O S T2 e WA 6 e i

(A) AR ARETE TiiEEA
(B)  AHIIEF Tia=aq
(C) == Tia=EA

(D) == OE=EA

(E) Tawmeaes ufa==q

Fr= o3 = fawew 9 7 wE 5w 94

() = (A), (B) = (C) (2) === (B). (C) 3 (D)

(3)  #a (B). (D) #i (E) @) 3 (O). (D) 3K (E)
Options :

53622814141. 1
53622814142. 2
53622814143. 3
53622814144. 4

Question Number : 12 Question Id : 5362283632 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A college principal conducts an ethnographic probe into the problems faced by tribal
students. Which method of sampling will be most appropriate?

(1) Random samplng (2) Stratified sampling
(3) Cluster sampling (4) Systematic sampling
Options :

53622814145. 1
53622814146. 2
53622814147. 3
53622814148. 4



Question Number : 12 Question Id : 5362283632 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U WElamed & AT g SAE e gen JEAT S A ST 0 JAGE A" FAarE T
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Options :

53622814145. 1
53622814146.2
53622814147.3
53622814148. 4

Question Number : 13 Question Id : 5362283633 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I: Fundamental research 1s directed at exploring the applicability of truths and

principles already established.

Statement IT : Action research aims at ameliorating the ongoing conditions and practices.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement I are incorrect

(3) Statement I 1s correct but Statement I 1s incorrect
(4) Statement I is incorrect but Statement IT 18 correct
Options :

53622814149. 1
53622814150. 2
53622814151. 3
53622814152. 4

Question Number : 13 Question Id : 5362283633 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
53622814149. 1
53622814150. 2
53622814151.3
53622814152. 4

Question Number : 14 Question Id : 5362283634 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1= labelled as Assertion (A) and the other 1= labelled as
Reason (R) :

Assertion (A) : Research ethics and itz observance 1s necessary in the interest of
credibility and quality of research.

Reason (R) : The policy making bodies have to be accountable for pursuing research
with an eve on promoting excellence.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A) 18 true but (R) 1s false
(4) (A) 1s false but (R) 1s true
Options :
53622814153. 1
53622814154. 2

53622814155.3
53622814156. 4

Question Number : 14 Question Id : 5362283634 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814153. 1
53622814154.2
53622814155.3
53622814156. 4



Question Number : 15 Question Id : 5362283635 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A researcher intends to find out the differences in motivational outlook of first degree level
students in terms of their belongingness to rural/urban areas and the educational status of
parents. What will be the dependent variable in this study?

(1) Belongingness to rural/urban areas (2) First degree level

(3) Educational status of parents (4) Motivational outlook
Options :
53622814157. 1
53622814158. 2
53622814159. 3
53622814160. 4

Question Number : 15 Question Id : 5362283635 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814157. 1
53622814158.2
53622814159. 3
53622814160. 4

Question Number : 16 Question Id : 5362283636 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Distance in Inter-personal communication 1s indicative of one's

(1) Showmanship (2) Social Strategy
(3) Culture (4) Business-like approach
Options :

53622814161. 1
53622814162. 2
53622814163. 3
53622814164. 4

Question Number : 16 Question Id : 5362283636 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Distance in Inter-personal communieation is indicative of one's

(1) Showmanship (2) Social Strategy
(3) Culture (4) Business-hke approach
Options :

53622814161. 1
53622814162. 2
53622814163.3
53622814164. 4

Question Number : 17 Question Id : 5362283637 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Identify the correct sequence of the following elements in the latter part of the

communication process after decoding :

(A) Environment
(B)  Feedback

(C) Context

(D) Interference

Choose the correct answer from the options given below :

(1) (A (B). (C). (D) (2) (B). (C). (D). (A)
(3 (€ (D). (A, B) (4) (B). (A (C). (D)
Options :

53622814165. 1
53622814166. 2
53622814167. 3
53622814168. 4

Question Number : 17 Question Id : 5362283637 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) ST
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(1) (A (B).(C). (D) ) (B). (C). (D). (A)

(3) (). (D). (A). (B) (4) (B). (A). (C). (D)
Options :

53622814165. 1
53622814166. 2
53622814167.3
53622814168. 4

Question Number : 18 Question Id : 5362283638 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last I with List IT :

List I List IT
(Type of media) (Example)
(A) Synchronous media (I)  Apphication of multi-media
(B) Asynchronous media (II) Interactive multi-media
(C) Rich media (III} E-maal
(D) Hyper media (IV) Telephone

Choose the correct answer from the options given below :

(1 (A)-D). (B)-(D), (C)-(III). (D)-IAV)
(2)  (A-IV), (B)(III). (C)-(IL). (D)-(I)
(3)  (A)-ID). (B)-IV). (C)-(I). (D)-(I1I)
(4) (A)-(ITT). (B)-(D). (C)-(IV). (D)-(II)

Options :

53622814169. 1
53622814170. 2
53622814171.3
53622814172. 4

Question Number : 18 Question Id : 5362283638 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A) wHFTF HrEm @ -t w5 g
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(6Y) (A)-(D. (B)-(ID), (C)-(I1D). (D)-(IV)
(2) (A)-(IV), (B)-(I1I). (C)-(II), (D)-(I)
(3) (A)-(II). (B)-(IV). (C)-(D). (D)~(ILI)

(4)  (A)-(IID. (B)-(D). (C)-(IV). (D)-(II)
Options :
53622814169. 1
53622814170. 2
53622814171. 3
53622814172. 4

Question Number : 19 Question Id : 5362283639 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 12 labelled as Assertion (A) and the other 1s labelled as

Beason (R) :

Assertion (4):  Effective communicators align appearance with body language and tone.

Reason (R) : Such an alignment forms part of the art of persuasion.

In the hight of the above statements, choose most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct
Options :
53622814173. 1
53622814174. 2
53622814175. 3
53622814176. 4

Question Number : 19 Question Id : 5362283639 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622814173. 1
53622814174. 2
53622814175.3
53622814176. 4

Question Number : 20 Question Id : 5362283640 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are contributive to positive influence on teacher-student
communication?

(A) Making assumptions

(B) Limited interaction

(C) Fostering a sense of belongingness
(D)  Acknowledging participation

(E) Persuative attitude

Choose the most appropriate answer from the options given below :

(1)  (A). (B). (C) only (2) (B). (C). (D) only
(3)  (C). (D). (E) only (4) (A). (D). (E) only
Options :

53622814177. 1



53622814178.2
53622814179.3
53622814180. 4

Question Number : 20 Question Id : 5362283640 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SEATTF - [T Ty & HeY § HeenEd § 9 -5 TS T9E ° aEE o B 7
(A) = A
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(1)  Fa= (A), (B). (C) (2) Fa (B), (C). (D)

(3) e (C), (D), () (4) Fa9 (A). (D). (E)
Options :

53622814177. 1
53622814178. 2
53622814179. 3
53622814180. 4

Question Number : 21 Question Id : 5362283641 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A pipe normally fills a tank in 12 hours. but, due to a leak. 1t takes 8 hours more. If the tank

1s full, how many hours will the leak take to empty 1t?

(1) 12 (2) 22
(3) 30 (4) 33
Options :

53622814181. 1
53622814182.2
53622814183. 3
53622814184. 4

Question Number : 21 Question Id : 5362283641 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

U UTEY U 9 1 SAEAR 9T 12 €2 H 9T 340 2 | W Torehe il 99 @ 36 9 0 8 52 i o 7

Al I w1 5T A1 fohs 1 9w W @ B2E 5 R wey e

(1) 12 (2) 22
(3) 30 (4) 33
Options :

53622814181. 1
53622814182. 2
53622814183.3
53622814184. 4

Question Number : 22 Question Id : 5362283642 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1= the remainder when 64 divides 16717

(1) 4 (2) b
(3) 6 4) 7
Options :

53622814185. 1
53622814186. 2
53622814187.3
53622814188. 4

Question Number : 22 Question Id : 5362283642 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
1671 1 64 = Fawiisa 24 70 fopaa 9 w=m ¢

(1 4 2 5
(3) 6 4 7
Options :

53622814185. 1
53622814186. 2
53622814187. 3
53622814188. 4

Question Number : 23 Question Id : 5362283643 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

Statement I: Two triangles are said to be congruent if their corresponding angles are

equal and corresponding sides are proportional.

Statement IT: Two triangles are said to be similar if their corresponding angles and

corresponding sides are equal.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s correct but Statement IT 1s false

(4) Statement I is incorrect but Statement II 1s true
Options :
53622814189. 1
53622814190. 2
53622814191. 3
53622814192. 4

Question Number : 23 Question Id : 5362283643 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e 31 e fam e E

#o (I): 21 s waimes Fee & 3ig 39 0 0§97 7 SR 56 90 SEEE A |

Fo (ID) : 21 Bl =1 59T e W61 2 302 399 G H00 ST =5 90 HEE A |

IF FUA H ATAH J ARG fawed 3 F w8 3 A
(1) == I3 I 3H 56 7 |

(2)  FoE IR =M 7=E 2 |

(3) =¥ [=ea = T %o IL7TeAd 2 |

4) w1 3Ee 2 g w I oe 2

Options :

53622814189. 1
53622814190. 2
53622814191. 3
53622814192. 4



Question Number : 24 Question Id : 5362283644 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the wrong number in the series :

7. 8. 18, 57, 228, 1165, 6996

(1) 1165 (2) 228
(3) o7 (4) 18
Options :

53622814193. 1
53622814194. 2
53622814195. 3
53622814196. 4

Question Number : 24 Question Id : 5362283644 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fTeritas Tea-%9 § o 7o Tl R T S

7. 8. 18. b7. 228, 1165, 6996

(1) 1165 (2) 228
(3) 57 (4) 18
Options :

53622814193. 1
53622814194. 2
53622814195. 3
53622814196. 4

Question Number : 25 Question Id : 5362283645 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

Statement I: When we perform an experiment, then the set S of all possible outcomes 1s

called the sample space.
Statement II : Any superset of a sample space 1s called an event.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement 11 are false
(3) Statement I 1= correct but Statement IT 1= false
(4) Statement I is incorrect but Statement IT 1s true
Options :
53622814197. 1
53622814198.2

53622814199. 3
53622814200. 4

Question Number : 25 Question Id : 5362283645 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= g1 FeE ffm o

FoA (I): =9 79 F7F TA0 A £ A T 69E TR0TH # 90eed S Wiae TiE wEend # |
Fo (D) : 1] wfaest =59 =1 %15 Afgag==a" ‘39 Feodl 2 |

IUEF FUAT F FAE § e e 3 1w 3w A

(1)  Fm [ =M 56 7 |

@  FuE 3R I EE T B

(8) A 1= = g % I1ea 2 |

4  wyE I #E 2 g w5y ILE8 2
Options :
53622814197. 1
53622814198. 2
53622814199. 3
53622814200. 4

Question Number : 26 Question Id : 5362283646 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks :

In terms of the relationship indicated below, which word will correctly pair to replace the
question mark?

[
v

Frown : Pain :: Smile : 2
(1) Joy (2) Sorrow

(3) Failure (4) Discomfiture
Options :

53622814201. 1
53622814202. 2
53622814203. 3
53622814204. 4

Question Number : 26 Question Id : 5362283646 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
= ZoNe T gy % SFTEE, FA-G1 952 99 e T 9 gHfe w5

W
[l

=TT 'Clrl.;'—:, v HERI

.

(1) g0 (2) =™
(3)  T=TF (4) =T
Options :

53622814201. 1
53622814202. 2
53622814203. 3
53622814204. 4

Question Number : 27 Question Id : 5362283647 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1= labelled as
Reason (R) :

Assertion (A) : Since the perception of hardness 1s not necessarily connected with its
colour, 1t can be said that all the perceptions seen conjoined but never
connected.

Reason (R) : Causal relationship 1s always contingent and probable because it 1=

derived from experience.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true



Options

53622814205. 1
53622814206. 2
53622814207. 3
53622814208. 4

Question Number : 27 Question Id : 5362283647 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

= =7 F9F 230 0 E TEE O v F AgEeT (A) #6358 F 99 (R) FE 7

AT (A) - ~JT =HSTAT 1 WY IEH U1 W AETAF T W Ge(9d A 7 SHCC TR HED A AT B

7% (R)

2

ST FAA F A H R e 3§ el 39 9

(1)
(2)
(3)
@

Options :

(A) 377 (R) TH1 T71 & 311 (R). (A) 1 21 =97z 7 |
(A) 31 (R) 21 @& & W (R), (A) T H# =amen 74 7 |
(A) @# 2 T (R) #8112 |

(A) T# 75 7 T (R) T8 71

53622814205. 1
53622814206. 2
53622814207. 3
53622814208. 4

Question

Number : 28 Question Id : 5362283648 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given b

elow are two propositions :

All philosophers are fallible.

Hegel 1s not fallible.

In the classical square of opposition, which one of the following is the correct option for this?

(1) Contrary (2) Sub contrary

(3) Contradictory (4) Subaltern

Options :

53622814209. 1



53622814210. 2
53622814211.3
53622814212. 4

Question Number : 28 Question Id : 5362283648 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tl ZEHE 2EE |
=0TET EEE 6 E

T o TRl J7 ° SHE (o (eTeiad § H R ey HE R

(1) faufad= (2) I9-Taoirad=
(3) = (4) =ToE (FEET)

Options :

53622814209. 1
53622814210.2
53622814211. 3
53622814212. 4

Question Number : 29 Question Id : 5362283649 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions :
Some animals are fierce.
Some animals are not fierce.

In the clas=sical square of opposition which one of the following is the correct option?

(1) Subaltern (2) Contradictory
(3) Contrary (4) Sub-contrary
Options :

53622814213. 1
53622814214.2
53622814215.3
53622814216. 4

Question Number : 29 Question Id : 5362283649 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FF T GEE 95 7 # |

ferrg & Fonfht 91 ° 36F fov fefatad 8 3 w+E-0 faweT me 2 e

(1) = (FEeee) (2) =mEE
(3)  faufmmm= (4)  FT—Tarard
Options :

53622814213. 1
53622814214.2
53622814215.3
53622814216. 4

Question Number : 30 Question Id : 5362283650 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT :

List I Last II
(Concept) (Philosopher)
(A) Causality is apriori {I) Anstotle
(B) Causality 1s synthetic (II) Hegel
(C) Causality 1z dialectical (IIT) Hume
(D) Causality 1z maternal (IVy Kant

Choose the correct answer from the options given below :

(1) (A)-ID). (B)-(D). (C)-(IV). (D)-(III)
(2)  (A)-IV), (B)-III). (C)-(ID). (D)-(I)
(3)  (A)-D, (B)-(AV), (C)-(I1I), (D)-(II)
4  (A)-dID. (B)-D. (C)-(II). (D)-(IV)

Options :

53622814217. 1
53622814218.2
53622814219.3
53622814220. 4

Question Number : 30 Question Id : 5362283650 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T-1 1 g=-I1 F gafed i -

-1 T1-11
(ruTm) GEUEED
(A) TFHEIE TFEEEF 7 | I =74
(B) FHORI FTTITHF 7 | D #rre
(C) FEOET ZZcdF 2 (III) =™
(D) AU a7 | AV) =
Hr f2u o Tl 0 W HE IR R T

(1) (A)-(II). (B)-(I), (C)-(IV). (D)-(I11I)
(2)  (A)-IV), (B)-IID), (C)-(II). (D)-(T)
(3)  (A)-(D. (B)-(IV), (C)-(TII). (D)-(IT)
(4) (A)-(IID). (B)-(D). (C)-(ID). (D)-(IV)

Options :

53622814217. 1
53622814218.2
53622814219. 3
53622814220. 4

Question Number : 31 Question Id : 5362283651 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

CDMA stands for

(1) Code Division Multiplexed Acceas
(2) Code Division Multiple Access

(3) Code Division Mobile Access

(4) Code Division Mobile Adapter

Options :

53622814221. 1
53622814222.2
53622814223. 3
53622814224. 4

Question Number : 31 Question Id : 5362283651 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Higone (CDMA) F1 a1/e0d 7

(1) s T4 aedieises T9Eg
(2) == e oediee veEg
(3) s Todrsw gmEa vy
(4) s TedeT aEEs T

Options :

53622814221 1

53622814222.2

53622814223. 3
53622814224. 4

Question Number : 32 Question Id : 5362283652 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In display technology. CRT stands for

(1) Cathode Ray Transmission

(2) Computer Ray Transmission
(3) Cathode Ray Tube

(4) Cathode Ray Transducer

Options :

53622814225. 1
53622814226.2
53622814227.3
53622814228. 4

Question Number : 32 Question Id : 5362283652 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s e S D = = M= e 0 B e

(1)  Fur=z 1 gEmEee (@) Foger T i
(3) Fuzizgm (4) F9Is 1 THSTH
Options :

53622814225. 1
53622814226.2
53622814227. 3
53622814228. 4

Question Number : 33 Question Id : 5362283653 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  External hard disk 1s a primary memory.
Statement II : In general. pen drives have more storage capacity than external hard disks.

In the hght of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement Il are false
(3) Statement I 1s correct but Statement IT 1s false

(4) Statement I is incorrect but Statement II 1s true
Options :

53622814229. 1

53622814230. 2

53622814231. 3

53622814232. 4

Question Number : 33 Question Id : 5362283653 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
wo (D) : =T 7S TS5 U WS HAT 7 |

wo (ID) : HE=a: U 159 il TZHA SEar e 7S f5e 1t a2 )

YA FUAT % AT § AR Gedl § W @R I o
(1) #9917 I 2 T8 7 |

(2) A I3 I 2H o 2 |

(3 wE 1T g T 17 2

(4) F9 1 53 7 fhg w97 154 2 |
Options :
53622814229. 1
53622814230.2
53622814231.3
53622814232. 4



Question Number : 34 Question Id : 5362283654 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT : List IT contains examples of the items Listed in List 1.

Last I List II
(A) Web 2.0 Applications (). ' Windows 8. 1-08
(B) Search Engines (IT)y C++. Java
(C) BSystem Softwares (III) Blogs. Twitter
(D) High level languages (IV) Google. Yahoo

Choose the correct answer from the options given below :

1) (A)-AQV), B)-III). (C)-@). (D)-aD)
(2)  (A)(IID, (B)-(IV). (C)-(I). (D)-(II)
(3)  (A)-(D. (B)-(IID), (C)-(IV), (D)-(ID)

(4) (A)-(IV), (B)(I), (C)-(III), (D)-(II)

Options :

53622814233. 1
53622814234.2
53622814235.3
53622814236. 4

Question Number : 34 Question Id : 5362283654 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T=1-1 %t g=-11 ¥ gt Fifse

71 TI1
(72) (FeTeT)
(A) = 2.0 TAHTH @ To=i 8, -2 vm
B) == T (D) C++, =
(C) Towes oieam (L) ==, feaen

F= 27 ™ fawew § O wE I gi

(1) (A)-(IV). (B)-(I1I). (C)-(I). (D)-(II)
(2 (A-ID. (B)-@V). (O)-). (D)-ID)
(3)  (A)-D. (B)-(IIL). (C)-(IV). (D)-(II)

(4) (A)-(IV). (B)-(I). (C)-(III), (D)-(II)
Options :
53622814233. 1
53622814234.2
53622814235. 3
53622814236. 4

Question Number : 35 Question Id : 5362283655 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are true?
{A) An algorithm may produce no output
(B) An algorithm expressed in a programming language 1s called a computer program.
(C) An algorithm is expressed 1in a graphical form known as flowchart
(D)  An algorithm can have infinite sequence of instructions.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (A). (B) and (D) only
(3) (C) and (D) only (4) (B) and (C) only
Options :

53622814237. 1
53622814238. 2
53622814239. 3
53622814240. 4



Question Number : 35 Question Id : 5362283655 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FAfetliga 5 @ A O 599 g3 2 7

(A) U USANEH FE AT TR 3 HHAT 7 |

(B)  TTET s ¥ SIqeahd TS g T FE A F
(C) W% % B9 H A9=Thd TSR F FA G2 HE S 7

(D) U ToEA | SS90 1 A FH A G # |

(el @ F (A). (B) 3R (D)
(3  F (C) 3 (D) (4) Fa= (B) 30 (C)
Options :

53622814237. 1
53622814238. 2
53622814239. 3
53622814240. 4

Question Number : 36 Question Id : 5362283656 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Exposure to excessive noise pollution can cause
(A) Hearing impairment
(B) Insomnia
(C) Rise in blood pressure
(D) Respiratory disease
(E) Reduced work efficiency

Choose the most appropriate answer from the options given below :

(1) (A).(C). (E) only (2) (A, (C). (D) only
(3) (B). (C) and (E) only (4) (A). (B), (C) and (E) only
Options :

53622814241. 1
53622814242.2
53622814243.3
53622814244. 4

Question Number : 36 Question Id : 5362283656 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT S TZ9Y § Adfongd § FH H F0 2 HEd £ 7
(A)  H=v EN

(B)  #AFg

(C) TEa=m o Afg

(D)  vIET HFH T

(E)  FrE&mar &5 & FE

Hr 51 ™ faeat 4 9 w91 3 g

(1)  Fad (A). (C) A1 (E) (2) Fa= (A). (C) 77 (D)

(3)  Fa (B). (C) 31 (E) (4) FF9 (A). (B). (C) =T (E)
Options :

53622814241. 1
53622814242. 2
53622814243. 3
53622814244. 4

Question Number : 37 Question Id : 5362283657 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In Photo Voltaic system (PV-system) arrange the following from smallest to the largest unit
(A) Module
(B) Array
(C) Solar cell
(D) Array field

Choose the correct answer from the options given below :

(1)  (B). (D). (A). (C) 2) (B). (D). (0. A
(3  (C).(B). (D). A) (4) (C).(A), B). D)
Options :

53622814245. 1
53622814246.2
53622814247. 3
53622814248. 4

Question Number : 37 Question Id : 5362283657 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



[ © [

TR - TereEe Wl (1 Hi-Taeee) |, gy w1 o9H o § O9d "9 5HE %0 0 s

(A) T

B

(C) =rE=

(D) W EE

Jr= fzu o ot 4 @ wE =W 9

(1) (B). D). (A). (C) 2)  (B). D). (C). (&)

(3  (0), (B). (D). (A) @ (0. (&), B). D)
Options :

53622814245. 1
53622814246. 2
53622814247. 3
53622814248. 4

Question Number : 38 Question Id : 5362283658 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following types of particulate matter pollutants are used in calculation of Air
Quality Index (AQI)?

(A) TSP (Total Suspended Particles)

(B) PM 10 (Particulate matters of size 10 micron or less)
(C) PM 2.5 (Particulate matter of size 2.5 micron or less)
(D) PM 1 (Particulate matter of size 1 micron or less)

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A)and (B) only
(3) (B) and (C) only {(4) (A), (B) and (C) only
Options :

53622814249. 1
53622814250. 2
53622814251. 3
53622814252. 4

Question Number : 38 Question Id : 5362283658 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



a1 T g (0 @) e § et § 9 w6 8 v F e e (wiiges 8) g
= TFT AT AR Y

Q)  FmE (T s gaEE)

(B) i vH 10 (10 HSEF I 5EH FH AR H GETHT )

(C) i vm 2.5 (2.5 AIEHA I THE FH ATEE & FEHF)

(D) W uA 1 (1 9EEE T SEE AT § R

Hr= 21 = fawewl 9 9 =51 I 96

(1) === (B). (C) 57 (D) (2) =as (A) 3T (B)

(3)  Fad (B) 31 (C) (4) F=9 (A). (B) 37 (C)
Options :

53622814249. 1
53622814250. 2
53622814251. 3
53622814252. 4

Question Number : 39 Question Id : 5362283659 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT :

List I List IT
(International Agreements) (Provisions)
{A) Montreal Protocol (I} Clean affordable energy
(B) Kyoto Protocol (II) Controlling consumption and

production of Halons
(C) Convention on Biodiversity (IIT) Emissions trading

(D) International Solar Alliance (IV) Clearing House Mechanism

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(ID). (C)-(IID). (D)-(I)
(2) (A)-(ID). (B)-(D). (C)-(I1I). (D)-(IV)
(3) (A)-(II). (B)-(I}, (C)-(IV). (D)-(IIL)

(4) (A)-(II). (B)-(IID). (C)-(IV), (D)-(I)

Options :
53622814253. 1



53622814254. 2
53622814255.3
53622814256. 4

Question Number : 39 Question Id : 5362283659 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TA1-1 F1 -1 5 gafem Hifm

T
(ATET HHETET)

(A) FifEE FRTH

(B) T Wi

(D) FZATET TR A

H= fo e B A I =R
(1) (A)-(IV), (B)-(II). (C)-(IID). (D)-(I)
(2) (A)-(ID). (B)-(I). (C)-(IIL). (D)-(IV)

(3)  (A)-D. B)-A). (C)-AIV). (D)-AII)

AN FAN AT (R ATTT 600 TR T T
Options :
53622814253. 1
53622814254.2
53622814255. 3
53622814256. 4

T=t-11

(ST )

@ == T =

(II) == 1 TUA ST I F FEEE
(IID) 3= =mn

m‘r} E (A pi":ir].{. i --.]EH q"‘} I'-'_‘| Frl

Question Number : 40 Question Id : 5362283660 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List T with List IT :

List I ListIT
(Toxic and Hazardous substances) (Major sources)
(A) Vinyl chloride (I ' Electric Insulations
(B) Polvchlorinated biphenyls (PCBs) (IT) Fuel combustion
(C) Benzo(a)pyrene (IIT)} Plastics Industrial uses
(D) Polyeyelic Aromatic Hydrocarbons (IV) Waste Incineration

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(III). (C)-(IV). (D)-(II)
2)  (A-D. (B)-(IID). (C)-(I). (D)-IV)
(3)  (A)-D. (B)-(IV). (C)-(ID), (D)-(I)

(4 (A)-(IID). (B)-(D). (C)-(IV). (D)-(II)
Options :

53622814257. 1

53622814258.2

53622814259. 3

53622814260. 4

Question Number : 40 Question Id : 5362283660 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 %1 g-I1 T Fafed e

-1 111
(Ferarr it AT ) (=7 =)
(A) e F=Es I sfFs e
B) THAFATHIS AEFAEEE (U1 H ) D) zoA =
(C) == (u) uEH (AID) wife o i S9am
D) TreETETEE T e (IV) Fmfe s
Fr= f2u o famedi A | ORI 9EE W

(1) (A)-(I). (B)-(ILL), (C)-(IV), (D)-(II)
(2) (A)-(I). (B)-(I1I). (C)-(II). (D)-(IV)
(3) (A)-(IID). (B)-(IV). (C)-(1I). (D)-(I)

@  (A-ID. (B)-(D. (C)-IV), (D)-{II)
Options :
53622814257. 1
53622814258. 2
53622814259.3
53622814260. 4

Question Number : 41 Question Id : 5362283661 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which year, All India Counecil for Technical Education was set up as a statutory body by
an Act of Parhament?

(1) 1986 (2) 1987
(3) 1988 (4) 1989

Options :

53622814261. 1
53622814262.2
53622814263.3
53622814264. 4

Question Number : 41 Question Id : 5362283661 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Ffefad 7 = 5 79 7 792 F ATaf=T gu U AfEtas [ F w1 A AhEe 9RdE awAn wre

afteg &1 T =i e i ?

(1) 1986 (2) 1987
(3) 1988 (4y 1989
Options :

53622814261. 1
53622814262. 2
53622814263. 3
53622814264. 4

Question Number : 42 Question Id : 5362283662 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are the characteristics of an effective team in an institution of higher learning?

(A) The atmosphere tends to be informal in which members of team are involved.
(B) There 1s a lot of discussion in which everyone participates.

(C) The task of the group 1s well understood and accepted by the group members.
(D) The members of the group are not afraid of putting forth their ideas.

(E) The members of the group avoid disagreement and conflict among themselves.

Choose the correct answer from the options given below :

(1) (A). (B). (C), (D) only (2) (B). (C). (D), (E) only
(3)  (C). (D). (E). (A) only (4) (E). (A). (B). (C) only
Options :

53622814265. 1
53622814266. 2
53622814267. 3
53622814268. 4

Question Number : 42 Question Id : 5362283662 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=5 wtam % PRl T § v e 2w A F e A 2
(A) TR SR B 7, TR S wee A vriEn 2 2

(C)  =HE & T F A=l o7 GH T4 & N BE & T2l HHEE w2 E
(D) T9E = T {9 fEERl W = ° A5 5 F

(E) ¥9E % Hat 3O did HAHg 3 Hyd w2 |

4= T2 ™ et ° | wE I e
(1) %= (A), (B). (C), (D) (2) #== (B). (C). (D). (E)
(3) =4 (O). (D). (E). (A) (4) Fa= (E). (A). (B). (C)

Options :

53622814265. 1
53622814266. 2
53622814267. 3
53622814268. 4

Question Number : 43 Question Id : 5362283663 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Helping individuals and social groups acquire social values. contributes to development of :
(1) Environmental awareness (2) Environmental knowledge

(3) Environmental attitude (4) Enwvironmental skills

Options :

53622814269. 1
53622814270. 2
53622814271.3
53622814272. 4

Question Number : 43 Question Id : 5362283663 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T AF qoa] i TaW FH § AfFadl ST AT aE YA $ FEEal HEE a6

{1) qqr"zll.uhl g AP E=hd {2} THE0E T T 4

(3) T AT (4) TRV A



Options :

53622814269. 1
53622814270. 2
53622814271.3
53622814272. 4

Question Number : 44 Question Id : 5362283664 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

The principal responsibilities of Academic Council in a University include

(A) Maintenance of quality and standards of academic programmes

(B) Planning. coordination. development. oversight and review of academic programmes
of University

(C) Laying down the essential qualifications for recruitment of faculty in various
disciplines.

(D) Framing and revising/updating the contents of courses of various academic
programmes.

(E) Approval of fee structure for various academic programmes

Choose the correct answer from the options given below :

(1) (A). and (B) only (2) (A), (B). (D) and (E) only
(3) (A). (B). (C) and (D) only (4y (A). (B), (C) and (E) only
Options :

53622814273. 1
53622814274.2
53622814275.3
53622814276. 4

Question Number : 44 Question Id : 5362283664 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



F1' :Fr:‘ﬁﬁ 1"3-."'3fa:-£] 1 fT 'H1" z| | ‘TET'SIE\_F T:l:@*‘:{ 3G 1’-’4 [z | 'h';ffﬁ'ﬁﬁﬁ IT 'H _-FFT H ﬁ'r

(B) Tavafzaem + A FEEa 1 Fren 53, g9, fTEm, e @ 9w gwfiean wo

(C)  Tafu= faw=l d germa—masi i w4 % foru sy s@ars =i fuifa e |

(D) Tafa= Deiors wewa F TEaEal i GeEel B J9F w1 AT GInE ) e e |

(E) Tatg= s =E=wa & o 8 F 29 =i =iF |

Fr T T faepent 8 @ A I 9

()  # (A), (B). (C) 3 (D) (4) Fa= (A). (B), (C) 3T (E)

Options :

53622814273. 1
53622814274.2
53622814275.3
53622814276. 4

Question Number : 45 Question Id : 5362283665 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last II : List — I and List — II consist of types of procedures used for
continuous appraisal of teaching and non-teaching staff in higher education and
characteristics of these appraisal respectively :

List I List IT
(Tvpes of Appraisal) (Characteristics)

(A) Developmental (I) Concerned with doing and achieving

(B) Managerial (II) Concerned with moral, ethical and
professional values

(C) Laissez-faire (ITI) Concerned with maintenance of social
control

(D) Judgemental (IV) Concerned with the importance of

gelf-development.

Choose the correct answer from the options given below :

(1) (A)-(III). (B)-(IV). (C)-(II), (D)-(I)
(2)  (A)-ID. (B)-(D), (C)-(IV). (D)-(IIT)
(3) (A)-(D. (B)-(III). (C)-(II). (D)-(IV)
4 A-1V), B)-ID). (C)-a1D), D)D)

Options :

53622814277. 1
53622814278. 2
53622814279. 3
53622814280. 4

Question Number : 45 Question Id : 5362283665 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T-1 F g1 @ g Fitaw o g=0 o g0 9w I=e e | faam va e w6

TH1-1 T=1-11
(qeaTFT = T (feraream )
(A) TaFmEEEE (@ = FH AN I e g "Heia
(B) TETTHS @) Hfa®, ffa-Fifrm 1 ==9wE g o
Hetem
(C) e AI) = e TEH § et
(D) T (IV) =ea-foF & T @ Jeiaa

I fzu v fomhemt 9 & wE 39 9T

(1) (A)-(IID). (B)-(IV). (C)-(IL), (D)-(I)
(2) (A)-(ID). (B)-@D). (C)-(IV). (D)-(I1I)
(3) (A)-(D). (B)-(I1I), (C)-(I). (D)-(IV)
(4) (A)-(IV). (B)-(ID). (C)-(I1L), (D)-(I)

Options :

53622814277. 1

53622814278.2

53622814279. 3
53622814280. 4

Sub-Section Number : 3
Sub-Section Id : 536228145
Question Shuffling Allowed : Yes

Question Id : 5362283666 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the passage and answer guestions 46 to 50.

‘Power’ has been differentiated by numerous authors and practitioners. Amitai Etzioni was
among the first to describe individuals who are able to induce other individuals to comply
and take action because of their position in the organization as having position power; those
who derive their power from their followers are considered to have personal power. Some are
skilled enough to have both. Position power 1s the extent to which those people to whom
managers report are willing to delegate authority and responsibility to them. So position
power tends to flow down In an organization. This is not to say that leaders do not have any
1mpact on how much position power they accrue. Thev certainly do. The confidence and trust
they develop with the people around them will often determine the willingness of upper
management to delegate to them. Remember. though, that whatever power 1s delegated
downward can also be taken back. Personal power 1z the extent to which followers respect,
feel good about. and are committed to the leader. They believe that their own needs and
goals will be recognized. supported, and facilitated by their leader. As such personal power in
an organisational setting comes from below - from the followers — and so flows up in an
organisation. Personal power 1s not inherent in the leader. If it were. managers with
personal power could take over any department and have the same commitment and rapport
they had in their last department. Personal power 1s a day-to-day phenomenon. Personal
power 1s a critical part of having and demonstrating emotional intelligence.

Sub questions

Question Number : 46 Question Id : 5362283667 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

When individuals in an organisation ask others to comply with their instructions. it is
identified as

(1) organisational power (2) positional power
(3) authoritarian power (4) delegated power
Options :

53622814281. 1
53622814282. 2
53622814283. 3
53622814284. 4

Question Number : 47 Question Id : 5362283668 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Personal power emanates from

(1) the group of managers

(2) the delegation of responsibility

(3) the followers

(4) the top-level executives in an organisation

Options :

53622814285. 1
53622814286. 2
53622814287. 3
53622814288. 4



Question Number : 48 Question Id : 5362283669 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Delegation of power to managers depends upon

(1) downward flow of authority (2) the whimsicality of top managers
(3) the people around the management (4) the trust reposed by the top managers
Options :

53622814289. 1
53622814290. 2
53622814291. 3
53622814292. 4

Question Number : 49 Question Id : 5362283670 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Position power, when delegated 1s

(1) volatile (2) permanent
(3) absolute (4) 1nherent
Options :

53622814293. 1
53622814294. 2
53622814295. 3
53622814296. 4

Question Number : 50 Question Id : 5362283671 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The passage recognizes the critical role of
(1) faith of the leader 1n his followers

(2) emotional intelligence to have personal power

(3) needs and goals of managers for perzonal power

(4) power flowing upwards so that managers can gain personal power
Options :

53622814297. 1
53622814298. 2
53622814299. 3
53622814300. 4

Question Id : 5362283666 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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U TR TR i 9EAT IA1 2 =Y 4 3E O | SafEaE i v ST i afEe R A O S
oS i fermear v s sifasataa w1 v wEeg @ R

Sub questions

Question Number : 46 Question Id : 5362283667 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
w foft Feonm 9 v =fEa G0 F AW A9 F AT F F o FEAT # a 39 39 TR TeaE
EIGI

(1)  T=gFE oI (2) Teuias oif=
(3) ATTFT FE T (4) TfarETHE T
Options :

53622814281. 1
53622814282. 2
53622814283. 3
53622814284. 4

Question Number : 47 Question Id : 5362283668 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T WiFd T 300 Bl 2 7
(1) "= F 99 §
(2) =l & WiEHgE O
(3) A A
(4)  TEOH 39 T FEEE O
Options :

53622814285. 1
53622814286. 2



53622814287. 3
53622814288. 4

Question Number : 48 Question Id : 5362283669 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) 7@ F1 A9-T91 (2) =4 9259 TAgF F gAEHE
(3)  WEES W AT 9 A (4) T3 gTT3 VAU Z At A
Options :

53622814289. 1
53622814290. 2
53622814291. 3
53622814292. 4

Question Number : 49 Question Id : 5362283670 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) afeam =t 2 (2) T BT R
(3) T = 2 (4) =HE =62
Options :

53622814293. 1
53622814294. 2
53622814295. 3
53622814296. 4

Question Number : 50 Question Id : 5362283671 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(2) 9O TS % UTH SETed It w1 SmE
(3)  duiga= wifFd =+ o0 wsaeR $1 SFEvFFran ug |eg
(4)  Ifoa =0Tl B 7 A1 TAEE aaias e T 59
Options :
53622814297. 1
53622814298. 2

53622814299. 3
53622814300. 4



PART II Home Science

Section Id : 53622850
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228146
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362283672 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The emulsifying property of mavonnaise 1s attrbuted to:

(1) Bromolein (2) Lecithin
(3) Pepsin (4) Ovwaglobulin
Options :

53622814301. 1
53622814302. 2
53622814303. 3
53622814304. 4

Question Number : 51 Question Id : 5362283672 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i ]-:[ . .l"__ﬂ_l_-rl,_l lm n_._"“ , ; ;I Y ]IGT ng--_f_. = T ERM] :_'E,r :

(1)  wEifem (2)  wETEA
{3) -EI H_:Jx:l“ (4) = T T __Frr
Options :

53622814301. 1
53622814302. 2
53622814303. 3
53622814304. 4

Question Number : 52 Question Id : 5362283673 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The preservative used in vellow coloured fruit squash 1s

(1) Sodium benzoate (2) Pottassium peroxide
(3) Pottassium metabisulphite (4) Sodium mono glutamate
Options :

53622814305. 1
53622814306. 2
53622814307. 3
53622814308. 4

Question Number : 52 Question Id : 5362283673 Question Type : MCQ Option Shuffling
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et 71 Sl 2 T H AR aiEs v R e

(1)  =ifsam s=me (2) T TS
(3) TR HEEEeE (4) HitsTH g ToREHE
Options :

53622814305. 1
53622814306. 2
53622814307. 3
53622814308. 4

Question Number : 53 Question Id : 5362283674 Question Type : MCQ Option Shuffling
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The delivery of hot cooked midday meals in an urban city 1s done by:

(1) Centralized service (2) Commissary system
(3) Cook and chill method (4) Bulk decentralised mode
Options :

53622814309. 1
53622814310. 2
53622814311. 3
53622814312. 4

Question Number : 53 Question Id : 5362283674 Question Type : MCQ Option Shuffling
Mandatory : No

Correct Marks : 2 Wrong Marks :

: No Is Question

: No Is Question

: No Is Question
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(1)  “rFa = (2) FHEE T
(3) FF 30 = afgh (4) T fEFZEa
Options :

53622814309. 1
53622814310. 2
53622814311.3
53622814312. 4

Question Number : 54 Question Id : 5362283675 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

One of the methods for recipe adjustment 1s by:

(1) Prime method (2) Factor method
(3) Process charting (4) PERT
Options :

53622814313. 1
53622814314.2
53622814315.3
53622814316. 4

Question Number : 54 Question Id : 5362283675 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s e J.'-_éﬁf. '|'.I_E .--..'-J ?

(1) s W (2) S O
(3)  wEE = (4) iz amd
Options :

53622814313. 1
53622814314. 2
53622814315. 3
53622814316. 4

Question Number : 55 Question Id : 5362283676 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Nutrition labelling has become mandatory even in the absence of nutrition claim in the
following country:

(1) Japan (2) South africa
(3) India (4) Singapore
Options :

53622814317. 1
53622814318. 2
53622814319.3
53622814320. 4

Question Number : 55 Question Id : 5362283676 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fefeanad 2o § 9w 2rd i SEead 5 9 9w SEfer SAEvEE = s E

(1) EIRIE (2) =t wFER
(3)  =nd (4) fmE
Options :

53622814317. 1
53622814318. 2
53622814319. 3
53622814320. 4

Question Number : 56 Question Id : 5362283677 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The community intervention programme launched by the union Health Mimstry for yvouth
both rural and urban, poor and affluent 1= —

(1) NFSM (2) SABLA
(3) RESK (4) NGCP
Options :

53622814321. 1
53622814322.2
53622814323. 3
53622814324. 4

Question Number : 56 Question Id : 5362283677 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A AT TR, WA UF BEg IR 60 Fegd ERS TAed gel SR T T aEaE mea

o (g MEHF‘: A FIE D =) 2

(1) T4 UFUg Uy (2) = Ul ve u (Hee)
(3) HMHTHAF (4) A
Options :

53622814321. 1
53622814322.2
53622814323. 3
53622814324. 4

Question Number : 57 Question Id : 5362283678 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The major sign of ARF i1s

(1) Increased serum creatinin level (2y  Elevated blood cholestrol
(3) Decreased blood pressure (4) Decreased bone mass density
Options :

53622814325. 1
53622814326.2
53622814327.3
53622814328. 4

Question Number : 57 Question Id : 5362283678 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T AT UF W UGG T F

(1) == 230 579 i = (2) ¥ F TF FARZA
(3) FAFA T AN (4) T 7 94 TH T
Options :

53622814325. 1
53622814326. 2
53622814327. 3
53622814328. 4

Question Number : 58 Question Id : 5362283679 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following instruments is used for estimation of colour values?

(1) Crockmeter (2) Laundro meter
(3) Pad steam range (4) Spectrophotometer
Options :

53622814329. 1
53622814330. 2
53622814331.3
53622814332. 4

Question Number : 58 Question Id : 5362283679 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FreAfafiga == 5 & FIFa1 7= FoR 40 F AIHE O H ST G wm a v

(1) =% e (2) =gl H
(3) T=EmE (4) T FEHE
Options :

53622814329. 1
53622814330.2
53622814331.3
53622814332. 4

Question Number : 59 Question Id : 5362283680 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The applique work in Bihar 1s known as

(1) Ehatwa (2) Kanh
(3) Rabar work (4) Jhik-tika
Options :

53622814333. 1
53622814334.2
53622814335.3
53622814336. 4

Question Number : 59 Question Id : 5362283680 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fa=w © el % 0 F + EY § FH 71490 2

(1) ERE (2) e
(3) T (4) Tz
Options :

53622814333. 1
53622814334.2
53622814335.3
53622814336. 4

Question Number : 60 Question Id : 5362283681 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following places Warp-ikat 1s not produced?

(1) Patan (2) Tanjore
(3) Kanchipuram (4) Surat
Options :

53622814337. 1
53622814338. 2
53622814339.3
53622814340. 4

Question Number : 60 Question Id : 5362283681 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TrAfeAfas 8 9 %9 9 T T F9-5%d F1 3097E T80 196 Y

(1)  Tea (2) @R
(3) =g 4) =4
Options :

53622814337. 1
53622814338.2
53622814339.3
53622814340. 4

Question Number : 61 Question Id : 5362283682 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s the most lustrous weave?

(1) Sateen (2) Swivel
(3) Jaguard {4) Dobby
Options :

53622814341. 1
53622814342.2
53622814343. 3
53622814344. 4

Question Number : 61 Question Id : 5362283682 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Freferiad | o - ma s awhe g 2 7

(1) =74 (2) =iE=
(3)  F=rE (4) St
Options :

53622814341. 1
53622814342.2
53622814343.3
53622814344. 4

Question Number : 62 Question Id : 5362283683 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Which of the following 1s the primary property of a fibre?

(1) Cohesiveness (2) Density
(3) Lustre (4) Resiliency
Options :

53622814345. 1
53622814346. 2
53622814347.3
53622814348. 4

Question Number : 62 Question Id : 5362283683 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feaferfiga 5 & 99 =1 FiE mats o R 7

(1) == (2) T
(3) EET (4) =TT
Options :

53622814345. 1
53622814346.2
53622814347.3
53622814348. 4

Question Number : 63 Question Id : 5362283684 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not a Dart equivalent?

(1) Style line (2) Princess line
(3) Gathers (4) Dart tuck
Options :

53622814349. 1
53622814350. 2
53622814351.3
53622814352. 4

Question Number : 63 Question Id : 5362283684 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

fAfefiga § & =9 &1 512 76ged TE 7 7

(1)  =me & (2) TEw =
(3) (=) T2 (4) SE-TF
Options :

53622814349. 1
53622814350. 2
53622814351. 3
53622814352. 4

Question Number : 64 Question Id : 5362283685 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Starch paste 1s used in removing which of the following stains?

(1) Iodine (2) Ink
(3) Rust (4) Grass
Options :

53622814353. 1
53622814354. 2
53622814355. 3
53622814356. 4

Question Number : 64 Question Id : 5362283685 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tifeliga 9 & &9 O 29 1 529 & 1070 w2/ U2 &0 TP T A 27

[ (&

(1) AT (2) ==
(3) = (4) ==
Options :

53622814353. 1
53622814354. 2
53622814355.3
53622814356. 4

Question Number : 65 Question Id : 5362283686 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Management process 1s:

(1) long (2) continuous
(3) Intermittent {(4) anend in itself
Options :

53622814357. 1
53622814358. 2
53622814359. 3
53622814360. 4

Question Number : 65 Question Id : 5362283686 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) T (2) wa4d
(3) At (4) == | HEH
Options :

53622814357. 1
53622814358. 2
53622814359.3
53622814360. 4

Question Number : 66 Question Id : 5362283687 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sensitivity to problem is:

(1) Creativity (2) Awareness
(3) Intelligence (4) Knowledge
Options :

53622814361. 1
53622814362. 2
53622814363. 3
53622814364. 4

Question Number : 66 Question Id : 5362283687 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) LI E (2) ATTEd
(3) A 4 =
Options :

53622814361. 1
53622814362. 2
53622814363. 3
53622814364. 4

Question Number : 67 Question Id : 5362283688 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The flow of goods and services in a family at a particular time:

(1) money lncome (2) realincome
(3) psvchic iIncome (4) physical income
Options :

53622814365. 1
53622814366. 2
53622814367. 3
53622814368. 4

Question Number : 67 Question Id : 5362283688 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

T w9 v uiEn | a9 g EE

(1)  difzw =13 (2) =taE A=
(3)  AMEF 3™ (psychic) (4) Hifas
Options :

53622814365. 1
53622814366. 2
53622814367. 3
53622814368. 4

Question Number : 68 Question Id : 5362283689 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

One of the internal constraint in implementation of a project is:

(1) Improper feasibility report

(2) Government policy

(3) Documents desired by financial institutions
(4) Licencing

Options :

53622814369. 1
53622814370. 2
53622814371.3
53622814372. 4

Question Number : 68 Question Id : 5362283689 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TATST 5 FEEE H U ST ey o

(1) 9T gurga e (2) T i
(3)  Tom T E0T Aiad SEEE (4) wITEEE
Options :

53622814369. 1
53622814370. 2
53622814371. 3
53622814372. 4

Question Number : 69 Question Id : 5362283690 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The low cost material hollow gypsum board and blocks are used for:

(1) Roofs (2) Foundations
(3) Interior walls (4) Floor
Options :

53622814373. 1
53622814374.2
53622814375.3
53622814376. 4

Question Number : 69 Question Id : 5362283690 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

FHH AT Gt Terd TaoEn & Wige 9 aun seied & 9w feud fe e 27

(1) & 2y @
(3) AN aran (4) 9
Options :

53622814373. 1
53622814374. 2
53622814375. 3
53622814376. 4

Question Number : 70 Question Id : 5362283691 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Expenditure for celebrating Deepawali 1s:

(1) Planned Expenditure (2) Semifixed Expenditure
(3) Uncontrolled Expenditure (4) Extra Expenditure
Options :

53622814377. 1
53622814378.2
53622814379. 3
53622814380. 4

Question Number : 70 Question Id : 5362283691 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Aarae 791 &% fav fae amaen = 2

(1)  ArSHEEg 519 (2)  sdfauifE s
(3) wfrafam =13 4) wfafeE =1
Options :

53622814377. 1
53622814378. 2
53622814379. 3
53622814380. 4

Question Number : 71 Question Id : 5362283692 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following groups are organic resources?

(1) Plants, water, fossil fuel (2) Fossil. fuel. plants animals
(3) Animals. air water (4) Aar. plants, Minerals
Options :

53622814381. 1
53622814382.2
53622814383. 3
53622814384. 4

Question Number : 71 Question Id : 5362283692 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fFeAtetEa 9§ 5 FH-57 T FEE SEEE # THE 2 Y

(1) Tie, 5, AEwH 25 (2) STEeH 36, G4, HEE
(3)  wHEE, T, W (4) am, "y, T
Options :

53622814381. 1
53622814382.2
53622814383. 3
53622814384. 4

Question Number : 72 Question Id : 5362283693 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The formation of a connection between parents and the newborn in the period soon after
birth is called:

(1) Attachment (2) Connection
(3) Bonding (4) Love
Options :

53622814385. 1
53622814386. 2
53622814387. 3
53622814388. 4

Question Number : 72 Question Id : 5362283693 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F % i W12 1 A § qar-foar 31 A9 o & s e i w9

(1) [GUIE] (2) TF4g
(3) HzdE (4) W=
Options :

53622814385. 1
53622814386. 2
53622814387. 3
53622814388. 4

Question Number : 73 Question Id : 5362283694 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The theory that holds that behawviour is strongly influenced by biology and evolution 1s
referred to as:

(1) The Ecological Theory (2) The Eterological Theory
(3) Erkson's Epigenetic Theory (4) Darwin's Theory
Options :

53622814389. 1
53622814390. 2
53622814391. 3
53622814392. 4

Question Number : 73 Question Id : 5362283694 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) R IEL NPl (2) wHTATTHS (Hgm
(3)  TRFER T ufUEEE Hgm (4) =i = g
Options :

53622814389. 1
53622814390. 2
53622814391.3
53622814392. 4

Question Number : 74 Question Id : 5362283695 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the New Education policy 2019, one of the new elements 1s:

(1) Inclusion of early childhood education

(2) Provision of father's education

(3) Focus on adolescent education

(4) Introduction of adult education
Options :

53622814393. 1
53622814394. 2
53622814395. 3
53622814396. 4

Question Number : 74 Question Id : 5362283695 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



% forer Hifg 2010 |, U T UIF B

(1) SR STeaTEy 9 = e e

(2)  Toa1 =1 e = gy

(3)  Torem/FeRemiear =i fren W SAE A e
(4) e fae i sEwE w0

Options :

53622814393. 1
53622814394.2
53622814395.3
53622814396. 4

Question Number : 75 Question Id : 5362283696 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Children with average intelligence who have difficulty in reading, writing and mathematics
are likely to have:

(1) Low intelligence guotient (2) Lack of interest in studies
(3) Learning disability (4) Low emotional intelligence
Options :

53622814397. 1
53622814398. 2
53622814399. 3
53622814400. 4

Question Number : 75 Question Id : 5362283696 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T FigaT AT 5 T Ted, To o1 e A e 71 39 e o f T A wl w

(1)  T= gfgufien o= (2) FFEE | =9 T AYE
(3) @A O wmEEa (4) T g qhg
Options :

53622814397. 1
53622814398. 2
53622814399. 3
53622814400. 4

Question Number : 76 Question Id : 5362283697 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The third stage in Erick Erickson's theory of human development 1s called:

(1) Autonomy versus shame and doubt (2) Trust versus mistrust
(3) Identity versus identity confusion (4) Imtiative versus guilt
Options :

53622814401. 1
53622814402. 2
53622814403. 3
53622814404. 4

Question Number : 76 Question Id : 5362283697 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g4 T = Ui UEA = fagia § i =@ = el Sl E

(1)  FaEa 39 T S5 T ©2) Tavam s sfaeaE
(3)  TEEE W9 TEAE 7 (4) U= =H =
Options :

53622814401. 1
53622814402. 2
53622814403. 3
53622814404. 4

Question Number : 77 Question Id : 5362283698 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The basic premise of the Prohibition of Child Marriage Act. 2006 1s that:

(1) A child can be married only after 15 vears of age
(2) Making a child go through marriage is an offence

(3) A girl or a boy 1= a minor upto 18 years of age
(4) A girl 1s a minor upto 18 years and a boy 1s a minor upto 21 years
Options :

53622814405. 1
53622814406. 2
53622814407. 3
53622814408. 4

Question Number : 77 Question Id : 5362283698 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o1 ToaTE Tfany AtatEn, 2006 = THE 79 T8 2 6

(1) Ferel |rereh 1 T 15 =39 61 919 % 9g=g A A 91 g 7

(2)  Todt 5 v faame & o d9n we sy @

(3) IS Wifeihn =1 ATeih 18 = i AF T AT 7

(4) 18 =9 F1 3 TF ST FTTSE 7 T 21 =6 Y T AT STGAGE 7

Options :

53622814405. 1
53622814406. 2
53622814407. 3
53622814408. 4

Question Number : 78 Question Id : 5362283699 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements does not describe a matriarchal fanmly?

(1) Authority vests in the woman head of the family

(2) Marraige relation are transient. The hushand 1z sometimes a casual visitor.
(3) Descent 1s through the mother
(4) Property 1s transferred through the mother

Options :

53622814409. 1
53622814410. 2
53622814411. 3
53622814412. 4

Question Number : 78 Question Id : 5362283699 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa 9 @ 11 =1 F99 AgEaES e w A0 A5 wa R
(2)  Haifes may sEYEl w6 7| o Fli-wd s s v 2
(3) =91 O % WA © ST A

(4)  HOR T gE AARE oA A

Options :

53622814409. 1
53622814410. 2
53622814411.3
53622814412. 4



Question Number : 79 Question Id : 5362283700 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The term used to refer to a person who controls or selects the content that reaches an
audience 1s known as:

(1) Watchman (2) Gatekeeper
(3) House keeper (4) Guard
Options :

53622814413. 1
53622814414.2
53622814415.3
53622814416. 4

Question Number : 79 Question Id : 5362283700 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT 79 9T =1 =99 A9 Fg=m 4 9t ==t w6 5 = g R e

(1) F=E9 (Watchman) (2) T (Gatekeeper)
(3) g (House keeper) (4) = (Guard)
Options :

53622814413. 1
53622814414.2
53622814415. 3
53622814416. 4

Question Number : 80 Question Id : 5362283701 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following models of development emphasized that the modernization could be
achieved by increased productivity. economic growth and industralization?

(1) The New paradigm of development

(2) Interdependent model of development
(3) Dominant paradigm of development model
(4) Basic needs model of development

Options :

53622814417. 1
53622814418. 2
53622814419. 3
53622814420. 4

Question Number : 80 Question Id : 5362283701 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frafafas % & faFm =1 9 T 9sA 5 99 W 9 291 7 F Iewa § gig, 1w e v
(1) T =1 921 du=Ed (Paradigm)

(2) e e faEm arsa

(3) e =1 waTel =z (Paradigm) ATES

(4)  TFYF EETHAT F T "IEE
Options :
53622814417. 1
53622814418. 2
53622814419. 3
53622814420. 4

Question Number : 81 Question Id : 5362283702 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not a group approach for communication and extension?

(1) Workshop (2) Home visits
(3) Training (4) Demonstration
Options :

53622814421. 1
53622814422. 2
53622814423.3
53622814424. 4

Question Number : 81 Question Id : 5362283702 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

famferfga 4 % #emm 31 faar 29 #5 @1 99 0= (Group Approach) 7#f 77

r

(1) FTAIAT (2) = H FM (Home visits)
(3)  TEEm (4) w=TH
Options :

53622814421. 1
53622814422.2
53622814423. 3
53622814424. 4

Question Number : 82 Question Id : 5362283703 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In communication, the interpretation of body language. posture and movement 1s termed as:

(1) Proxemics {(2) Paralanguage
(3) Kinesics (4) Chronemics
Options :

53622814425. 1
53622814426.2
53622814427. 3
53622814428. 4

Question Number : 82 Question Id : 5362283703 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEY § T 919 S G2 U TG 6 S w e Tires e e

(1) A (Proxemics) (2) TerEs (Paralanguage)

(3) et (Kinesics) (4) wHmEFA (Chronemics)
Options :

53622814425. 1
53622814426.2
53622814427.3
53622814428. 4

Question Number : 83 Question Id : 5362283704 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who was the ancient Greek philosopher who wrote the book ‘Rhetoric’ describing the role of
persuasion in public speaking?

(1) Alexander (2) Anristotle
(3) Plato (4) Dewito
Options :

53622814429. 1
53622814430. 2
53622814431.3
53622814432 4

Question Number : 83 Question Id : 5362283704 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



WA A 2 #iA 9, fae =i (Rhetoric) T fondt off fmn ae=ts woamor 6 afagriza

(Persuation) =1 i1 T == =l i ?

(1) TEFAEt (Alexander) (2) #74 (Aristotle)
(3) =721 (Plato) (4) =fEAT (Devito)
Options :

53622814429. 1
53622814430. 2
53622814431. 3
53622814432. 4

Question Number : 84 Question Id : 5362283705 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The art and science of helping adults learn 1s called

(1) Pedagogy (2) Sociology
(3) Anthropology (4) Andragogyv
Options :

53622814433. 1
53622814434.2
53622814435.3
53622814436. 4

Question Number : 84 Question Id : 5362283705 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=T F A O §E2 WA i e U9 T R 9 Fad B 7

(1)  u=F (Pedagogy) (2) =R (Sociology)
(3)  m=gwiETsl (Anthropology) (4) T==rTEl (Andzagogy)
Options :

53622814433. 1
53622814434. 2
53622814435. 3
53622814436. 4

Question Number : 85 Question Id : 5362283706 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Panchayati Raj institutions in India are important expressions of people’s participation in
local self governance through:

(1) Domination (2) Centralization
(3) Decentralization (4) Demonitization
Options :

53622814437. 1
53622814438. 2
53622814439. 3
53622814440. 4

Question Number : 85 Question Id : 5362283706 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I H U= TS SR T S -HIET § S i 9riEE i Heeaqol S e ares § S
27

(1) g (2) 2w
(3) T (4) TaggFm
Options :

53622814437. 1
53622814438. 2
53622814439. 3
53622814440. 4

Question Number : 86 Question Id : 5362283707 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following scale represents the least powerful and lowest level of measurement?

(1) Ordinal scale (2) Interval scale
(3) Nominal scale (4) Ratio scale
Options :

53622814441. 1
53622814442.2
53622814443.3
53622814444. 4

Question Number : 86 Question Id : 5362283707 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



frefefan 4 9 =i = J9m1 519 & AT SR UE AeTqH TG H 9l 8 7

(1) Aifeas =he {Ordinal scale) (2) §El€|‘ o The { Intervel acale)
(3) 1fI9e %=F# (Nominal scale) (4) 79 =he (Ratio scale)
Options :

53622814441. 1
53622814442.2
53622814443.3
53622814444. 4

Question Number : 87 Question Id : 5362283708 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Study of nutritional status of children born in 2010 in a village would be an example of:

(1) Emperical study (2) Cohort study
(3) Trend study (4) Intervention study
Options :

53622814445. 1
53622814446. 2
53622814447.3
53622814448. 4

Question Number : 87 Question Id : 5362283708 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UF T A 99 2010 H W9 ©H 916 =1 % 9 & (Nutritional Status) 1 31eE fAeieiga 5 4

(1) THgitHE weTE (Emperical study) (2) = #A5=4 (Cohort study)
(3) f:ﬁ AT (Trend study) (4) =7 #9999 (Intervention study)
Options :

53622814445. 1
53622814446. 2
53622814447. 3
53622814448. 4

Question Number : 88 Question Id : 5362283709 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Sampling error associated with random samphing can be determined by the following formula

(Where S-zsample standard deviation: n-sample si1ze)

S S
@ S @ —
yn—1 Sin—-1
S — S+
@ e ) =
Sin+1 x.'lrn+1

Options :

53622814449. 1
53622814450. 2
53622814451.3
53622814452. 4

Question Number : 88 Question Id : 5362283709 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tgf=a* (Random) 797 (Sample) T F31 FHA1-3f231 1 Hanw fefamas 531 4 9 70+ gr & =
Hehel & 7 {_-l_"TS FHAT A faetTae, n— AT (Sample Size) 55 )

S S
(1) ; (2) ———
vn—1 S+n-1
@ o w
Syn+1 Jn+1
Options :

53622814449. 1
53622814450. 2
53622814451. 3
53622814452. 4

Question Number : 89 Question Id : 5362283710 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following tests 1s most suitable for studying association between income level of
mothers and their buying practices for infant wear?

(1) T-test (2) Chi-square test
(3) ANOVA (4) Pearsonsr
Options :

53622814453. 1
53622814454. 2
53622814455. 3
53622814456. 4



Question Number : 89 Question Id : 5362283710 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faefeaiaa & o =attos 3996 S/ 4 = 2, 7 91 i " T uE e wus @iied & oAl
F o9 % Ty A $ o 2 7

(1) A2z (T-test) (2) FrE-THAL 752 (Chi-square test)
(3) T (ANOVA) (4) TP ==4 r (Pearson’s r)
Options :

53622814453. 1
53622814454.2
53622814455.3
53622814456. 4

Question Number : 90 Question Id : 5362283711 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not an advantage of fixed response question in gquestionnaries?

(1) Facilitate completion of the questionnarie
(2) Easy to score and code
(3) Useful where there 1s little or no information about the sample
(4) No writing 1s required by respondants
Options :

53622814457. 1
53622814458. 2
53622814459. 3
53622814460. 4

Question Number : 90 Question Id : 5362283711 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freferfian § & = @ 7oA, weEe) § e st A e e T R
(1) e S T

(2) = U4 THE 4 Tl

(3)  IEAN, W& HUA % AW H F 6 FEA 7w A9 q5d 79 A

(4) I 2 T F o femgw w4 A 7

Options :

53622814457. 1
53622814458.2
53622814459. 3



53622814460. 4

Question Number : 91 Question Id : 5362283712 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Antimicrobial properties can be attrbuted to the following spices:

(a) Asafoetida

(b) Aniseed
(c) Mace

(d) Turmeric
(e) Clove

Choose the most appropriate answer from the options given below:

(1) (c), (d) and (e) only (2) (a), (b) and (e) only
(3) (a), (c) and (d) only (4) (a). (b) and (c) only
Options :

53622814461. 1
53622814462. 2
53622814463. 3
53622814464. 4

Question Number : 91 Question Id : 5362283712 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SHraroy Tl o7 e e wEe | w5 A

(a)

3149

= 723 7 a9l 4 °§ T8 3 F 99E W+W

(1) = (c). (d) 3 (e) (2)  Fa (a), (b) 317 (e)
(3) 4 (a), (c) 31 (d) (4) =a= (a). (b) 317 ()
Options :

53622814461. 1
53622814462. 2
53622814463. 3
53622814464. 4



Question Number : 92 Question Id : 5362283713 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Records to be maintained in the dietary department of a hospital to dehver diets to patients
are:
(a) Reqguisition slip (wards)
(h) Work schedule
(c) Production schedule
(d) Menu tally
(e) Cash book

Choose the appropriate answer from the options given below

(1) (a). (d) and (e) only (2) (a). (c) and (d) only
(3) (a). (b) and (c) only (4) (b). (d) and (e) only
Options :

53622814465. 1
53622814466. 2
53622814467. 3
53622814468. 4

Question Number : 92 Question Id : 5362283713 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A F B TH 9 AR F U e & 2w e A (s feeede) 3 saee T aE

= = -
s b

(a) =T O (TTsE)

(b) =g

(c) ERICERIER G

(d)  dF =

(e) T3 WAl

I 23 W faFew 3 9 od I o 9 ww°

(1)  F4 (a), (d) 97 (e) (2) F99 (a), () 37 (d)

(3)  Fa (a). (b) 3 (c) 4) F99 (b), (d) = (e)
Options :

53622814465. 1
53622814466. 2
53622814467. 3
53622814468. 4

Question Number : 93 Question Id : 5362283714 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Adequate zinc 1s needed for:
{a) Cellular growth

(b) Immune function

{c) Blood clotting

(d) Reproduction

{e) Muscle contraction

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) only (2) (b), (d) and (e) only
(3) (a), (b) and (d) only (4) (b). (c) and (e) only
Options :

53622814469. 1
53622814470. 2
53622814471. 3
53622814472. 4

Question Number : 93 Question Id : 5362283714 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(a)  TIETRE g
(b)  wieEie =
{c) [EE R AR EARE LS
(d) T FE
(e) AiEferET H HeE

i 28 T fawew 4 3 O I o = W+

(1) == (a), (b) 391 (c) (2) %= (b), (d) 377 ()
(3)  Fad (a), (b) 3 (d) (4) F= (b). (¢) T (e)
Options :

53622814469. 1
53622814470. 2
53622814471. 3
53622814472. 4

Question Number : 94 Question Id : 5362283715 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Emerging hipid risk factors for CVD are:

(a) Elevated Lipo protein (a)
(b) Low apolioprotein A-1

{c) Impaired glucose level
(d) High total cholestrol HDL cholostrol ratio
(e) Inflammory markers

Choose the correct answer from the options given below:

(1) (b). (c) and (d) only (2) (b), (a) and (e) only
(3) (a). (c) and (e) only {(4) (a).(b) and (d) only
Options :

53622814473. 1
53622814474. 2
53622814475. 3
53622814476. 4

Question Number : 94 Question Id : 5362283715 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
(a) sl 73 fmE (a)
(b)  =F FAMAIEE A-1
(c) i TewE T
(e) T HEA

= o ™ faFeT O O 9 I o T

(1) == (b), (c) 3T (d) (2) = (b). (a) 31 ()
(3) T (a). (©) = (e) (4) =99 (a). (b) 3 (d)
Options :

53622814473. 1
53622814474. 2
53622814475. 3
53622814476. 4

Question Number : 95 Question Id : 5362283716 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following pockets come under the category of slashed pockets?
(a) Kangaroo

(b) Welt

{c) Flap

(d) Bound

Choose the correct answer from the options given below:

(1) (b). (c) and (d) only (2) (). (d) and (a) only

{(3) (a). (b) and (c) only (4) (a), (b) and (d) only
Options :

53622814477. 1
53622814478. 2
53622814479. 3
53622814480. 4

Question Number : 95 Question Id : 5362283716 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fr=feafiga 5 4 == @ 59 (Pockets) &= 5 (Slashed pockets) = a7 5 #1H1 7 7
(a) 1= (Kangaroo)
(b)  d@=2 (Welt)
(¢) 7 (Flap)
(d)  =3s (Bound)

419 20 T 9o 9 O WEl [HEeT w1 99w

(1) & (b), () AN (d) (2)  FF (¢). (d) A7 (a)
(3) =4 (a), (b) 7 () (4) a4 (a). (b) #F (d)
Options :

53622814477. 1
53622814478. 2
53622814479. 3
53622814480. 4

Question Number : 96 Question Id : 5362283717 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are distinct styles in Kathiawar Embroidery?
(a) Mot1 Bharat

{(b) Sindhi Taropa

{c) Abla Bharat

(d)  Chalak -Tiki

Choose the correct answer from the options given below:
(1) (b). (c) and (d) only (2) (a). (b) and (c) only
(3) (a), (b) and (d) only {(4) (a). (c) and (d) only



Options :

53622814481. 1
53622814482. 2
53622814483.3
53622814484. 4

Question Number : 96 Question Id : 5362283717 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fifsarand] wqE § faafataa @ @ +9  fagm e o o 27

(a) T WA

(hy  foeeft aom

ic) HEEAT HIH

(d) =% & (Chalak —Tiki)

9 ot T forenii B @ W T

(1) Fae (b). (c) 1 (d) (2)  waHE (a). (b) 31 (o)
(3)  wddA (a), (b) AN (d) (4) HEH (a). (c) 3T (d)
Options :

53622814481. 1
53622814482.2
53622814483.3
53622814484. 4

Question Number : 97 Question Id : 5362283718 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following parts of machine needle fit into the needle bar?

(a) Shank

(b) Blade

(c) Butt

{d) Secarf

Choose the correct answer from the options given below:

(1) (a) and (b) only (2) (b) and (c) only
(3) (c) and (d) only (4) (a) and (c) only
Options :

53622814485. 1
53622814486. 2
53622814487. 3
53622814488. 4

Question Number : 97 Question Id : 5362283718 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
fl”':ﬁﬁﬁ(NeedleBar}ﬁﬂ"ﬁ?ﬂﬁﬁ?ﬁmﬁﬂﬁﬁﬁﬁﬁﬁﬂéiﬁﬁ?ﬁﬁ'ﬂT‘T AT B 7
(a) 7 (Shank)

(b) =5 (Blade)

(c) =Z (Butt)

(d)  FFTF (Scard)

9= 29 T faFeT ° ° 9 I #1999 i

(1) =3 (a) #E (b) (2) Fa (b) 3 (c)
(3) A (c) R (d) (4) = (a) T (c)
Options :

53622814485. 1
53622814486. 2
53622814487.3
53622814488. 4

Question Number : 98 Question Id : 5362283719 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following properties are imparted in a fabric by nanotechnology?
{(a) Stain and wrinkle resistance

(h) Flame retardance
(c) Anti-microbial
(d) Water resistance

Choose the correct answer from the options given below:

(1) (c). (d) and (a) only (2) (d), (a) and (b) only
(3) (a). (b) and (c) only (4) (b).(c) and (d) only
Options :

53622814489. 1
53622814490. 2
53622814491.3
53622814492. 4

Question Number : 98 Question Id : 5362283719 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1 THATATS % gl S | Aegd 3 @ A H e ST W R
(a) @M vd foeEe

(b) =92 (Flame) S315F

(c) ST

(d)  SFowr

= T2 7 famwea 4§ HE I 1 =EA i

(1) == (o). (d) = (a) (2)  Fa (d), (a) 37 (b)
(3)  Fa (a), (b) I (c) 4) FF9 (b). (c) FF (d)
Options :

53622814489. 1
53622814490. 2
53622814491. 3
53622814492. 4

Question Number : 99 Question Id : 5362283720 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following fibers can be confirmed by their microscopic appearance?
(a) Cotton

(b) Wool

(c) Silk

(d) Nylon

(e) Flax

Choose the correct answer from the options given below:

(1) (a). (b) and (c) only (2) (a). (b) and (e) only

(3) (b). (c) and (d) only (4) (e).(d) and (b) only
Options :

53622814493. 1
53622814494. 2
53622814495.3
53622814496. 4

Question Number : 99 Question Id : 5362283720 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feAfatgd a4 # ¥ T4 d=01 & 37 gEaeee 39t (Microseopic Appearance) ¥ T2 fhar =1
e 47

(a) Al

(b) I

(c) {E= =

(d  AEEE

(e) T

4= 22 ™ fTwe 9 1 98 I F = e

(1)  Fa (a), (b) 7 (©) (2) F (a). (b) # ()

(3)  Fad (b). (¢) 311 (d) (4) == (e), (d) T (b)
Options :

53622814493. 1
53622814494. 2
53622814495. 3
53622814496. 4

Question Number : 100 Question Id : 5362283721 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What are the objectives of consumer movement from among the options given below?
(a) product safety
(b) price cut

(e} solution to consumer problems
(d) providing consumer information
(e) formulations of rules

Choose the correct answer from the options given below:

(1) (a). (b) and (c) only (2) (a).(e)and (d) only
(3)  (b). (c) and (d) only (4) (c). (d) and (e) only
Options :

53622814497. 1
53622814498. 2
53622814499. 3
53622814500. 4

Question Number : 100 Question Id : 5362283721 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fav o F=fefad fasea § O S99 JEeH & Fi4 ° 3599 2 7

(a) F0qTg HIE
(b) T3 H FH
(c) FUHTE S A F GHEE

(d) ST =T 35T HH]
(e)  T9o|1 =1 ==

= 27 ™ faweT 8 9 9E T o = W+

(1) == (a). (b) #A () (2) =9 (a). (c) 317 (d)
(3) A (b). (c) TR (d) @ e @ ok ©
Options :

53622814497. 1
53622814498. 2
53622814499. 3
53622814500. 4

Question Number : 101 Question Id : 5362283722 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What are the characteristics of hard wood as per the hst given below?

(a) These are equally strong across and along fibre

(b) They resist transverse loading shock and vibrations
(c) These are light in weight and colour

(d) These have more moisture content

Choose the correct answer from the options given below:

(1) (a) and (b) only (2) (b)and (c) only
(3) (c) and (d) only (4) (a) and (d) only
Options :

53622814501. 1
53622814502. 2
53622814503. 3
53622814504. 4

Question Number : 101 Question Id : 5362283722 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



#i 72 F=fefEa T F AET FeE oSl A e A
(a) T Ws-Toa 90 & WY G9H BT 9 g99d =6 A
(b)  I% FIFY FEH F FLH TA HIT F A0 Fdl 7
(c) Tz GE U9 7 4 el 2l 2

(d) =99 FE 1 qEN #@iEE w2

fi= 1 = el § O TR I 99T

(1) =4 (a) 7 (b) (2) == (b) 3T (o)
(3) A (c) = (d) (4) =Ha= (a) A (d)
Options :

53622814501. 1
53622814502. 2
53622814503. 3
53622814504. 4

Question Number : 102 Question Id : 5362283723 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

From among the list given identify the features that enhance the visual weight of element
and attract attention

(a) Regular shapes

(b) Bright colours

(c) Matching textures

(d) Large dimensions

(e) Elaborate details

Choose the correct answer from the options given below:

(1) (a). (c). (d) only (2) (a). (b). (d) only
(3) (c). (d). (e) only (4) (b). (d). (e) only
Options :

53622814505. 1
53622814506. 2
53622814507. 3
53622814508. 4

Question Number : 102 Question Id : 5362283723 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T2 T B T A A i TEaH A 7 a0 F 399 97 H 696 2 997 S AT B 7
(a) THatEa @

(b)  =HF T

(c) oA wrdt (HfE) sAmEE

(d) =T oiET

(e) 1%1'@?! EEw

qﬁﬂﬁﬂ@hﬁﬂﬂﬂﬂﬁﬂﬁrwﬁ

(1) w4 (). (). (d) (2) F== (a). (b). (d)

@) Fa9©). @), (o) 4) =+ (b). (), (e)
Options :

53622814505. 1
53622814506. 2
53622814507. 3
53622814508. 4

Question Number : 103 Question Id : 5362283724 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
From the list given below indicate the features of traditional standard:

{a) Rigad
(b) Stable
(c) Flexible

(d) Socially acceptable
(e) Modern

Choose the correct answer from the options given below:

(1) (b). (c). (d) only (2) (a). (c). (d) only
(3) (a). (b). (d) only (4) (c). (d). (e) only
Options :

53622814509. 1
53622814510. 2
53622814511. 3
53622814512. 4

Question Number : 103 Question Id : 5362283724 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



w8 Froftian 5 A & TR T & w1 S

(a)  FaAW
(b) o
(c)  =rEsie

(d) TmEHEF =9 4 e
(e) ST

ek

I o9 = foeg 0 O o8 o F 99 1 .

(1) == (b). (). (d) (2) A (a). (c). (d)
(3) = (a). (b), (d) (4) = (e), (d). (e)
Options :

53622814509. 1
53622814510. 2
53622814511. 3
53622814512. 4

Question Number : 104 Question Id : 5362283725 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

From among the following 1tems choose the objectives of aesthetic plannming:
(a) Expressiveness

(b) Cost-effectiveness

{e) Beauty

(d) Functionality

(e) Varety

Choose the correct answer from the options given below:

(1)  (c). (d). (e) only (2)  (b). (c). (d) only
(3) (a). (b). (d) only (4) (a).(c).(d) only
Options :

53622814513. 1
53622814514.2
53622814515. 3
53622814516. 4

Question Number : 104 Question Id : 5362283725 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frefatEs 721 & gefayet a1 % =791 F1 =991 Hifan

(a) AT Al
(b) = waTE
(c) T

(d) TFETTHFRAT
()  TEEEA

Hr= T Tl 4§ wE S W TE =

1) F (o). (d). (e) (2 F= (b). (c). (d)
(3) 4 (a). (b). (d) (4) #= (a). (o). (d)
Options :

53622814513. 1
53622814514.2
53622814515.3
53622814516. 4

Question Number : 105 Question Id : 5362283726 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The most common psychological features of the Alzheimer's disease are:

(a) Gradual loss of memory
(b) Bad temperament
{c) Difficulty in comprehension

(d) Difficulty with speech production
(e) Difficulty in walking

Choose the correct answer from the options given below:

(1) (a). (b). (c) only (2) (a). (e), (d) only
(3)  (b). (c). (e) only (4) (b). (d). (e) only
Options :

53622814517. 1
53622814518.2
53622814519. 3
53622814520. 4

Question Number : 105 Question Id : 5362283726 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



HEATSHT 0] = TeaH 199 HE GAEAF e #7427
(a) € o7 W & E

(b)  w=9E =@IE B

(€  THaA H Fis

(d) = A FATE

(e) =1 O FleAE

= o7 ™ fageul § 9 FE I F =E W

(1) == (a), (b), (¢ (2) == (a). (). (d)
(3)  Fad (). (c). (e) 4) Fa= (b). (d). (e)
Options :

53622814517. 1
53622814518. 2
53622814519.3
53622814520. 4

Question Number : 106 Question Id : 5362283727 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In case of children with disability dietary intervention is advisable because —

(a) They need more nutrition than other children of their age

(b) They tend to have poor appetite

(c) They may not be able to chew regular food

(d) They need to be reinforced with food to manage their behaviour

{e) Nutritional aspects may be overlooked by parents

Choose the correct answer from the options given below:

(1) (a). (b). (e) only (2) (b). (d). (e) only

(3) {(b). (c). (e) only {(4) (a). (c). (d) only
Options :

53622814521. 1
53622814522.2
53622814523. 3
53622814524. 4

Question Number : 106 Question Id : 5362283727 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o9 &1 &1 290 0 =R et =4 & o7 a1 A6l B FHIen

(a) 3 39% 3W & 31 A H gl B AGH AR i SAETEHal 2l

(b) = Y@ A = FI W w2

() A Frfm 9w == 3 wem 8 74 2

(d) 3% e =EET A F 60 3% 9o T 999 sA10 A w1 SATErgal w5l 7
(e)  HIAT-TUaT gRT Uy HEel T = T -3ASTH AT F TRl 7

I= 53 = e 5§ 98 I F =9m wo o

(1)  F= (a). (b). (e) (2) == (b). (d). (e)

(3) = (b). (©). () 4) == () (¢). (d)
Options :

53622814521. 1
53622814522. 2
53622814523.3
53622814524. 4

Question Number : 107 Question Id : 5362283728 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Emotional competence includes skills such as:

{a) Being able to mimic others emotions

(b) Being aware of one’s emotional states

(c) Being sensitive to other's emotions

(d) Using the vocabulary of emotion terms

(e) Not having any negative emotions

Choose the most appropriate answer from the options given below:

(1) (a). (b). (c) only (2) (b). (c). (e) only

(3) (c). (d). (e) only (4) (b). (c). (d) only
Options :

53622814525. 1
53622814526. 2
53622814527. 3
53622814528. 4

Question Number : 107 Question Id : 5362283728 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT HARAT 5 UH Fi9 a9 & 99

(@)  F =hl AT T T A H HHE BT

(b) fopedl F1 graATeRs 2t & &0 8 S 2
(c) 3 =i WA % Ui HeeAve B

(d) TS O FEiad TR o IS o IO
(e) TR wRw Fi THTTHE ST B A B

H= 27 ™ fawed 9 © wE I = W

(D) F (. b). © @) F= (), (©). (©)
(3) Fa (c). (d). (e) (4) =a (b). (c). (d)
Options :

53622814525. 1
53622814526.2
53622814527. 3
53622814528. 4

Question Number : 108 Question Id : 5362283729 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The formation of the self from childhood to adolescence involves processes such as:
{a) Self-concept
(b) Personality development

(c) Selfishness
(d) Self- esteem
(e Self-awareness

Choose the most appropriate answer from the options given below:

(1) (a). (b). (c) only (2) (b). (c). (d) only
(3)  (a), (d). (e) only (4) (c), (d). (e) only
Options :

53622814529. 1
53622814530. 2
53622814531. 3
53622814532. 4

Question Number : 108 Question Id : 5362283729 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



SR T S [FeTRay] 9 <9 o HH &) 9ERET ° o 2 o
(a)  =E-THea

(b)  =ATHE fawd

(c) T

(d)  ATH-TEE

(e) HATCH—AT TR

= 27 ™ faregl 5 ¥ 98 = o 9 A+

(1) =3 (a). (b). (c) (2)  FF (b), (c). (d)
(3)  =ad (a). (d). (e) 4 A (c), (d). (e)
Options :

53622814529. 1
53622814530. 2
53622814531.3
53622814532. 4

Question Number : 109 Question Id : 5362283730 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following are the components of ICDS?

(a) Formal Education
(b) Antenatal services
(c) Referral service

(d) Supplementary Nutrition
(e) Immunization

Choose the correct answer from the options given below:

(1) (b). (c). (d). (&) only (2) (a). (b). (d). (e) only
(3) (a). (b). (c). (e) only (4) (a). (b). (c). (d) only
Options :

53622814533. 1
53622814534.2
53622814535. 3
53622814536. 4

Question Number : 109 Question Id : 5362283730 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



faferiiga 4 @ #=9-=4 ¥ 9@ .30, (LC.D.S) & u2F 27
(a) TR A
(b)  FHIE FAT

() Tl Ham

(d) TR T

(e) Tfaram (Immunization)

Hr T3 T Tt 9 @ o T o

(1)  F= 0). ). @, (e) (2) 4 (a), (b). (). (&)

(3) A (a), (b). (c). (e) (4) FaE (a). O). (o). (d)
Options :

53622814533. 1
53622814534.2
53622814535. 3
53622814536. 4

Question Number : 110 Question Id : 5362283731 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following schemes are for rural upliftment?

(a) SSY

(b) MGNREGA

(c) PMGSY

(d) DDUGEY

(e) ICDS

Choose the correct answer from the options given below:

(1) (a). (b). (d) only (2) (b, (e). (e) only

(3) (b). (c). (d) only (4) (a). (c), (e) only
Options :

53622814537. 1
53622814538.2
53622814539. 3
53622814540. 4

Question Number : 110 Question Id : 5362283731 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fefefaa arss 5 @ # = g soum % oo 27

(a)  TH THIE (SSY)

(b)  TH S T AW T (MGNREGA)
(c) o Ty H v 93 (PMGSY)

(d) #2351 % 7% (DDUGKY)

(e) #TE =i 21 vH (ICDS)

I 21 T T 5§ 98 39 #9999

(1) == (a), (). (d) (2)  F=4 (b). (c). (e)
(3) & (b), (¢, (d) (4) =a (a), (0). (e)
Options :

53622814537. 1
53622814538. 2
53622814539. 3
53622814540. 4

Question Number : 111 Question Id : 5362283732 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are Advocacy techniques useful in influencing policy?
(a) Interviewing
(b) Lobbying

ch} Research
(d) Negotiating
(e) Campalgning

Choose the correct answer from the options given below:

(1)  (b). (d). (c) only (2) (a), (b). (c) only
(3) (c), (d). (e) only (4) (b). (d). (e) only
Options :

53622814541. 1
53622814542. 2
53622814543. 3
53622814544. 4

Question Number : 111 Question Id : 5362283732 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fferfias § © =9 of T99F a91F ifd 1 99E 599 § 399ri B 7

(a) AT F (Interviewing)
(b) @1 (Lobbying)

(c) #9949 (Research)

(d) =@ Far (Negotiating)

(e) A T (Campaigning)

= 27 ™ fohed 9 7 = I A

(1) == (b). (). (© (2) = (a). (b). (c)
(3) == (). (d). (e) (4) a9 (b). (d). (e)
Options :

53622814541. 1
53622814542. 2
53622814543. 3
53622814544. 4

Question Number : 112 Question Id : 5362283733 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following are 3 dimentional visual aids?

(a) Specimen

(b) Model

(c) Powerpoint Presentation

(d) Puppets

(e) Objects

Choose the most appropriate answer from the options given below:

(1)  (a). (b). (¢). (d) only (2)  (b). (¢). (d). (e) only

(3) (a). (¢). (d). (e) only (4) (a). (b). (d). (e) only
Options :

53622814545. 1
53622814546.2
53622814547. 3
53622814548. 4

Question Number : 112 Question Id : 5362283733 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feferfigs 4 % %4 8 3 SEHHS @59+ 758 (3 Dimensional Visual Aids) 27

(a) i (Specimen)

(b) == (Model)

(e) UTeR TE2 U527 (Powerpoint Presentation)
(d) 775 (Puppets)

(e) AaFzA (Objects)

1 759 T TaEeT 4§ T 39 1 = e

(1) aﬂ—-{ (a). (b), (c). (d) (2) vr—m (b). (). (d). (e)

(3) F4d (a), (). (d). (e) (4) =4 (a). (b). (d). (e)
Options :

53622814545. 1
53622814546. 2
53622814547. 3
53622814548. 4

Question Number : 113 Question Id : 5362283734 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The following are characteristics of non-parametric tests: They

(a) do not suppose any particular distribution

(b) are quick and easy to use

(c) cannot be applied to nominal and ordinal scales

{d) can be used when measurements are not very accurate
(e) make assumption about homogeneity of variance

Choose the correct answer from the options given below:

(1) (a). (c). (d) only (2) (a). (b). (d) only
(3) {(e). (b). (c) only (4) (b). (d). (e) only
Options :

53622814549. 1
53622814550. 2
53622814551. 3
53622814552. 4

Question Number : 113 Question Id : 5362283734 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



FeTfeiiad § ® % ¥ =e T-ur=ia® == (Non-Parametric Test) = 77

(a) e faom faaoor =1 9 g

(b) ity v 39 § o5

(c) TR ia UF FAgEF (Nominal And Ordinal) 917 T =7 7 =M1
(d)  =ITF HI9 T EA R TN | SwEm § o w

(e)  Tamwiqal i v =qar # a0 4 IFATHA T

I 721 T T O O o8 I F 99 w®°

1) F=E (). ©). (@ @ F (). b). @
(3) =4 (e). (b), (c) (4) =g (b). (d). (e)
Options :

53622814549. 1
53622814550. 2
53622814551. 3
53622814552. 4

Question Number : 114 Question Id : 5362283735 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are tvpes of case studies?
(a) Observational

(b) Historical

(c) Dimensional

(d) Situational

(e) Experimental

Choose the correct answer from the options given below:

(1)  (a). (b). (e) only (2) (c). (d). (e) only
(3) (b). (c). (d) only (4) (a). (b). (d) only
Options :

53622814553. 1
53622814554. 2
53622814555. 3
53622814556. 4

Question Number : 114 Question Id : 5362283735 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



FH w221 (Case Study) & =g H ° %1 ° THE 27
(a) TEEATAF (Observational)

(b)  Ufd=ETET (Historical)

(c) TEa™ (Dimentional)

(d) T (Situational)

(e) AT (Experimental)

I 729 ™ faEeT | 9 uE I 1 w9

) F= (@), ). () (2) 9 (c). (d), (e)
(3) A (b). (c). (d) (4) =99 (a). (b). (d)
Options :

53622814553. 1
53622814554. 2
53622814555. 3
53622814556. 4

Question Number : 115 Question Id : 5362283736 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following data collection tools are most suitable for a research study on
assesment of preference of adolescents for choice of career with a sample size of 407

(a) Semi-structured interview
(b) Focussed group discussion
(c) Participant Observation

(d) Non-participant observation
(e) Projective techniques

Choose the correct answer from the options given below:

(1)  (e). (c). (a) only (Z) (a). (b). (e) only
(3) (c}. (d). (b) only (4) (e), (d). (a) only
Options :

53622814557. 1
53622814558. 2
53622814559.3
53622814560. 4

Question Number : 115 Question Id : 5362283736 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T =EF 40 & =g T F = 2 R i mafmmae & e moow oy s # o
frefafad #9 ¥ aAiFe Tusm 39 3ta 77

(a)  wREIEOA il THA F AT

(b)  =Fi=d ggE ==

(c)  WWIERI =l SRR

(d)  TR-wwier i =gt

() WA AFAF

I 23 g fowe 9 9 T 39 #1999 91

(1) m (e). (c). (a) (2) == (a). (b). (e)
(3)  Fa4 (). (d). (b) 4) Fa (). (d). (a)
Options :

53622814557. 1
53622814558. 2
53622814559. 3
53622814560. 4

Question Number : 116 Question Id : 5362283737 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List T with List IT

List I List IT
Process Food Item
(a) Gelatinisation (1) Icecream
(b) Carmelisation (1) Boiled rice
{c) Pasteurisation (1) Chapat1
(d) Dextrinisation (iv) Peanut brittle
(e) Homogemsation (v) Custard
(vi) Milk

Choose the correct answer from the options given below :

(1) (a)-Gi). (b)-(v). (c)-(). (d)-(vi). (e)-(v)
2)  (a)-G1). (b)-(1v). (¢)-(iid), (d)-(v). (e)-(vi)
(3)  (a)-(v). (b)-(i11). (c)-@), (d)-GD). (e)-(v)
(4)  (a)-(i). (b)-(Av). (e)-(vi). (d)-(id). (e)-(1)

Options :

53622814561. 1
53622814562. 2
53622814563. 3



53622814564. 4

Question Number : 116 Question Id : 5362283737 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

w=t [ = g1 11 % =19 gHie e

T I g 11
() Toretedrm (i) m=A fFm
(b) FHATEHTA (i) F&=T1 531 9
(¢) O (1) =
(d) SFEgEE (iv) =z faze
(e) EHEITAZAT (v) S
(vi) 38

Hi= 72 = A=t 0 8 oF o o 9=

(1) (a)-(11). (b)-(av). (c)-(2). (d)-(v1). (e)-(V)
(2) (a)-(11). (b)-(v). (c)-(m), (d)-(v). (e)-(v1)
(3)  (2)-v), (b)-(111), (c)-(). (d)-(11). (e)-(v)
(4) (a)-(11). (b)-(v). (c)-(vi). (d)-(111). (e)-(1)

Options :

53622814561. 1

53622814562. 2

53622814563. 3
53622814564. 4

Question Number : 117 Question Id : 5362283738 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
Diets Disease
(a) Dash (1) Gout
(b) Gluten free (1) Diabetes mellitus
(¢) Low uric acid (m) Cehac
(d) Carbohydrate counting (iv) Hepatitis

(e) High CHO. high protein moderate fat (v) Hypertension
diet

Choose the correct answer from the options given below :

(1) (a)-(1), (b)-(11). (c)-(1v). (d)-(111). (€)-(V)
2)  (2)-(1), (b)-Q). (e)-(v), (d)-(11). (&)-(v)
3) (2, (b)-(u). (c)-(). (d)-(11), (e)-(av)
(4) (a)-(111). (b)-(av). (e)-(11), (d)-(v). (e)-(1)

Options :

53622814565. 1

53622814566. 2

53622814567. 3
53622814568. 4

Question Number : 117 Question Id : 5362283738 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T=i 1 %1 gt 11 % =1 gefea =i

T 1 T 11
HATET T
(a) SITwH T @H M
(b) TEA T (i) THEEES qieed
(¢) = afes s (i) FETw
(d) TFEEIES2 FEE (iv) FozEfH
(e) == FEH, I WAH, T F9] SRR (v) 3= TFEM

= 78 T Taweu ° ° wE I 9 W

(1) (a)-(1). (b)-(11). (c)-(1v). (d)-(1n). (e)-(v)
(2) (a)-(11). (b)-(2). (e)-v). (d)-(in). (e)-(v)
(3) (a)-(v), (b)-(111). (e)-(1). (d)-(11), (€)-(1v )

4 (a)-@i). (b)-(v). (e)-(i1). (d)-(v), (e)-(1)
Options :

53622814565. 1

53622814566. 2

53622814567. 3

53622814568. 4

Question Number : 118 Question Id : 5362283739 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Mateh List I with Last IT

(a)

(b)
{c)
(d)

List I List IT

Finishes Purpose

Carbonising (1) Sets the weave and eliminate
shrinkage

Crabbing (11) Develops permanent sheer

Decating (11) Burns off vegetable impurities

Fulling (iv) Imparts crease resistance

(v) Makes the fabric more compact and
soft

Choose the correct answer from the options given below :

(1) (2-(u). (b)-). (e)-(). (d)-(v)

(2) (a)-(111). (b)-(1). (c)-(11). (d)-(v)

(3) (a)-(11). (b)-(11). (e)-(1), (d)-(v)

(4) (a)-(1v). (b)-(111). (c)-(1). (d)-(11)
Options :

53622814569. 1
53622814570. 2
53622814571. 3
53622814572. 4

Question Number : 118 Question Id : 5362283739 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt 11 gt 11 % o9 FHier i

Gl T 1T
(TR ) (s¥va)
(@) FHTEETET (1) ST T HE HA AW e T w
(b) e (i) o I9F TEEd F
(c) Totem (iii) T 1 EEAT F
(d) Eem (iv) rF-Tr =9

freAtertga famedl 5 5 581 faFes =1 =999 i

(D (a)-@). (b)-Q). ()-(1). (d)-av)
(2) (a)-(m1). (b)-(). (e)-(11). (d)-(v)
(3) (a)-(1). (b)-(11). (c)-(1). (d)-(v)
4 (@)-Gv). (b)-(id). (c)-(1). (d)-(1D)

Options :

53622814569. 1

53622814570. 2

53622814571. 3
53622814572. 4

Question Number : 119 Question Id : 5362283740 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Matech List I with List IT

List I List IT
Textures Effect on person
(a) Shiny textures (1) Do not enlarge the body and are
suitable for all body types
(b) Dull textures (1) Make the person appear thinner
(¢) Soft and clingy fabrics (1) Make the person appear larger
(d) Stff bulky fabrics (iv) Reveal body 1rregularities

(vi Hide body 1rregularities and add
welght to the body

Choose the correct answer from the options given below :

(1) (a)-(), (b)-(1). (e)-(iv). (d)-(v)
(2)  (a)-(i), (b)-(ii), (e)-1v), (d)-(v)
(3  (a)-Q). (b)-(i). (c)-(1id). (d)-(iv)
(4)  (a)-(v). (b)-(id). (¢)-(1). (d)-()

Options :

53622814573. 1

53622814574. 2

53622814575.3
53622814576. 4

Question Number : 119 Question Id : 5362283740 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(a)

(b)
(c)
(d)

eferfas e 9 5 o8 fa9eg & =994 i

(1)
(2)
(3)
(4)

BNl
ERlicrs

& T S

(@)-(1i1). (b)-(0). (&)-(iv). (d)-(v)
(a)-(i1). (b)-(ii). (c)-(1v). (d)-(v)
(a)-(1). (b)-(ii). (c)-(1i1). (d)-(iv)
(a)-(iv), (b)-(iil). (¢)-(i). (d)-(1)

Options :

53622814573. 1
53622814574.2
53622814575.3
53622814576. 4

(1)

(11)

o= 11
=TT oY THTT

(iv) IR i ATEFHE F IAE FAd 7

(V)

TR T AEATEGET FOGAE EOAAT T H

Question Number : 120 Question Id : 5362283741 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Mateh List I wath Last IT

ListI Last IT
(a) Mental effort (1)  reach, rising, lifting, holding. caring
(b) Visual effort (1) thinking, reasoning, planning. decision
making, worrying, talking
{c) Manual effort (1) walking. moving, standing
(d) Torsal effort (1v) looking, reaching. matching.

adjustment to distance

{e) Pedal effort (v) bending., leaning, turning, stooping.
sitting. gardening

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(i1). (c)-(111). (d)-(1v). (&)-(V)
(2) (a)-(11), (b)-(111). (c)-(1v), (d)-(v). (&)-(1)
(3) (a)-(11). (b)-(iv). (e)-(1). (d)-(v). (e)-(1i1)
(4) (a)-(11). (b)-(1), (c)-(1v). (d)-(1). (e)-(v )

Options :

53622814577. 1
53622814578. 2
53622814579.3
53622814580. 4

Question Number : 120 Question Id : 5362283741 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



w1 =i =it I1 % =19 i &

T 1 = 11
(a) HARASHE TEH ()  wEH, 331, IIEI, THESAT, HAH
b) 3¢ e (i) #=A, T FE, AT SHE, FUE o,

[T 01, =T T

(c) F=TA TIE (ii1) ==, e, =S =
(d) =rEe TEE (iv) =TT, 9EE, TG, W wESe s
(e) T v (ise) (v) . T w, o, ge W oA A

= fom ™ T 4 8 =E O

(1) (a)-@). (b)-aD), (c)-(id). (d)-0v). (e)-(v)
(2) (a)-(11), (b)-(i11), (c)-(1v), (d)-(v), (e)-(1)
(3) (a)-(11). (b)-(iv). (e)-(@). (d)-(v). (e)-(iii)
(4) (a)-(111), (b)-(11). (c)-(1v). (d)-(). (e)-(v )

Options :

53622814577. 1

53622814578.2

53622814579.3
53622814580. 4

Question Number : 121 Question Id : 5362283742 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Mateh List T with List IT

List I List IT
Polluting agents Category
{a) Carbon mono oxide (1)  wvolatile orgame chemical
(b) Benzene (1) respirable particulate
(c) Asbestos (111) radio — nuclides
(d) Fung (iv) combution products

(v) biologics and bio aerosoal

Choose the correct answer from the options given below :

(1) (a)-(11). (b)-(111), (c)-(v). (d)-(1v)
(2) (a)-(1). (b)-(11). (e)-(111), (d)-(v)
(3) (a)-(111). (b)-(11). (e)-(2). (d)-(v)

4)  (a)-av). (b)-(). (c)-(11). (d)-(v)
Options :
53622814581. 1
53622814582. 2
53622814583.3
53622814584. 4

Question Number : 121 Question Id : 5362283742 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt 11 gt 11 % =19 gafed =+

T 7= 11
(a) FTEA AT AFEES (i) =TT wEE
(b) == (i) vEEEE F
(c) TEEEEH (ii1) fzi weEm
(d) =a® (iv) =E 44 3098

(v) SEATAFE AT aEEEE
F=itea ool ® & w8 ey =4

(1) (a)-(1m1). (b)-(11), (e)-(v), (d)-(1v)
(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3)  (a)-(u). (b)-(11), (c)-(1), (d)-(v)
(4) (a)-(av), (b)-(1). (c)-(1), (d)-(v)

Options :

53622814581. 1

53622814582.2

53622814583. 3
53622814584. 4

Question Number : 122 Question Id : 5362283743 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I Last IT
(a) Vygzotsky (1)  Social — learning theory
(b) Piaget (1) Socio cultural cognitive theory
(c) Lorenz (1) Ecological theory
(d) PBronfenbrenner (iv) Ethological theory

(v) Cognitive development theory

Choose the correct answer from the options given below :

(1) (a)-(11), (b)-(v). (c)-(11). (d)-(1)

{2} {ﬂ)-{V}, (b}-(]_'l}. {C)—{]L‘L}, {d)'{lj

(3)  (a)-(v). (b)-(u). (c)-). (d)-(v)
(4) (a)-(11), (b)-(v). (¢)-(iv). (d)-(111)
Options :

53622814585. 1

53622814586. 2

53622814587. 3
53622814588. 4

Question Number : 122 Question Id : 5362283743 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T 1 ==t 11 % = gefeE i

gl 1 o=t 11
(a) =TETEEA (i) =mETSE sta fagE
(b) ToETHZ (11) T FEHAF TEEF Hgd
(c) W= (ii) wfafEE fogm
(d) T (iv) FHAEF T A

(v) =T T e

fr= 729 7 faegt 5 O O 390 7 99 #

(1) (a)-(11). (b)-(v). (c)-(ii1), (d)-(1)
(2) (a)-(v). (b)-(11). (e)-(111). (d)-(1)
(3) (a)-(v), (b)-(i11), (e)-(1), (d)-(1v)
@) (a)-G). b)-(v). (e)-(iv). (d)-(iii)

Options :

53622814585. 1
53622814586. 2
53622814587.3
53622814588. 4

Question Number : 123 Question Id : 5362283744 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
(a) Morpholopgy (1) System of meaningful units involved
in word formation

(b) Syntax (11) System that involves the meaning of
words and sentences

(c) Pragmatics (m1) The way words are combined to form
acceptable phrases and sentences
(d) Semantics (iv) Sound system of a language
(v) System of using appropriate

conversation and how to use language
1n context

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(v), (e)-(1i1). (d)-(11)
(2) (a)-(1). (b)-(111). (c)-(v). (d)-(11)
(3) (a)-(v), (b)-(111). (c)-(11), (d)-(1)
(4)  (a)-(v). (b)-(11). (c)-(v). (d)-(111)
Options :
53622814589. 1
53622814590. 2

53622814591. 3
53622814592. 4

Question Number : 123 Question Id : 5362283744 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



w11 geit [ % = gHies i

GEI T 11
(a) HTRIATAT ()  Ims T ° enfaer st seTE wone!
(b) To=wm (1) == o e ves S areE % wd e
(¢) Az (i) A aEEe {1 T e F e e
1 WS = AL
(d) Atz (iv) Toeft s7om 7 saf o

(V) SUIE HaIE AN 9T R HEW H hH 3w

+ 73  faeT 5 o o I o =

(1) (2)-0). 0)-(v). (c)-(111). (d)-(11)
(2) (a)-(1). (b)-(a11). (c)-(v). (d)-(11)
(3) (a)-(v), (b)-(111), (c)-(1), (d)-(1)
(4) (a)-(1v). (b)-(11). (e)-(v). (d)-(111)

Options :

53622814589. 1

53622814590. 2

53622814591. 3
53622814592. 4

Question Number : 124 Question Id : 5362283745 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last I wath Last 1T

List I List IT
Twypes of training Desecription
(a) Job training (1) Training to introduce a new employee

to the organisation’s mission. vision.
philosophy and structure

(b) Pre — service training (11) Traiming given to keep an employee
updated with latest knowledge for a
job

(¢) In— service traiming (1) A special training gilven to an
emplovee to do a particular new task

(d) Orientation training (iv) Training undertaken by a person

before joining a job

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2)  (a)-(). (b)-(1id). (c)-(11). (d)-(iv)
(3) (a)-(111). (b)-(1v). (c)-(1), (d)-(11)
(4) (a)-(11). (b)-(1v). (c)-(2). (d)-(111)
Options :
53622814593. 1
53622814594. 2

53622814595.3
53622814596. 4

Question Number : 124 Question Id : 5362283745 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T 1t gt 11 = =19 gHfea it

=il |
TTOTSTIT T TRTY

r

(@) =T (&) F1 Tram
(b) HaT H A F Yo wiwEm
(c) HETRE = S TEE

(d) TamF-—amg T

+ To3 T faheal 94§ GR35 o =E w

(1) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(2) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)
(3) (a)-(111). (b)-av). (e)-(1), (d)-(11)
(4) (a)-(11). (b)-(av). (c)-(1). (d)-(an1)

Options :

53622814593. 1

53622814594. 2

53622814595.3
53622814596. 4

()

(11)

(111)

(1v)

7= 11

T
e et e R e e R e e
faea-2fe @on 2= ° w=E w0 Bg T

i FHEEl 1 w0 @99 § 99T 96
fam = Fet Tfoem

A=l i TR wE e wg e S e e
T § AW § qd TRl st g feEm mn

Question Number : 125 Question Id : 5362283746 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

(a)

(b)

(c)

(d)

List I List II

Space zones for communication Distance

Social space (1) Extends within 18 inches (one and a
half feet) of a communicator

Pubhic space (Ii) Starts from 12 feet and may extend
upto 25 feet or to the range of eve
sight and hearing of a communicator

Intimate space (i11) Extends within a radius of 18 inches
{one and a half feet) to 4 feet of a
communicator

Personal space (iv) Extends within a radius of 4 feet to

12 feet of a communicator

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options :

(a)-(1v). (b)-(ii). (c)-(1). (d)-(11)
(a)-(m). (b)-(11). (c)-(v). (d)-()
(a)-(iv). (b)-(11). (e)-(1). (d)-(111)
(a)-(1). (b)-(111). (c)-(11). (d)-(1v)

53622814597. 1
53622814598. 2
53622814599. 3
53622814600. 4

Question Number : 125 Question Id : 5362283746 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



F=it I g= 11 = w1y Jefaq Hia
T I

(a) wEITHF &
(b) TEAHEF &

(c) =remar (3F192) &

(d) =FtFh &
H= 79 T e 1 9 98 I % 9E oo

(1) (@-av). (b)-(a11), (¢)-(1). (d)-(11)
(2) (a)-(m1), (b)-(11), (€)-(1v). (d)-(1)
3y (@-wv). (b)-(1). (¢)-(). (d)-(111)
(4) (a)-(1). (b)-(1i1). (e)-(i1). (d)-(iv)

Options :

53622814597. 1

53622814598. 2

53622814599. 3
53622814600. 4

(1)
(11)

(111)

(1v)

T 11
=

HUTE H 18 39 (3 Fie ) F Him 7 faEn
ot oo = 12 2 1 2 W s s
TUT =4 HHT 9% =N

et @u9s @ 18 1= (32 F12) ¥ 7w 4
et vuws o 4 F 7 == 12 £ 9% H

Question Number : 126 Question Id : 5362283747 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps of chocolate making in the correct sequence
(a) Refining

(b) Cocoa liquor

(c) Tempering

(d) Addition of milk, sugar, fat

(e) Enrcbing

() Conching

Choose the correct answer from the options given below :

(1) (a). (d). (c), (b). (e). (D
(2) (b). (d). (a). (). (c). (e)
(3) (a). (e). (D). (d). (e), (b)

4 (). (o). (. (a). (e). (@
Options :
53622814601. 1
53622814602. 2
53622814603. 3
53622814604. 4

Question Number : 126 Question Id : 5362283747 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T2 S F =00 # T8 9 § sgarag Fifw

(a) afrarieE

(b) il U (forep)

(c) i

(d 39, FA61, FE HEE

=, g

(e) RECHER
() i

= 29 T faEew 9 T 93 I o 9

(1) (a). (@) (). (b). (e). (D
(2) (b), (d), (a), (D). (c). (e)
(3)  (a). (). (D. (d), (e), (b)
(4) (b). (c). (f). (a). (e). (d)

Options :

53622814601. 1
53622814602. 2
53622814603. 3
53622814604. 4

Question Number : 127 Question Id : 5362283748 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Put in the correct sequence the steps in planning the food plan

(a) Check if the meals planned give satiety and 1s within income
(h) Indicate number of exchanges

(c) Include meat and pulse for protein

(d) List dishes served in each meal

(e) Note energy and protein requirement

Choose the correct answer from the options given below :

(1) (a). (b). (d). (c). (e)
(2) (b (d). (e} (a). (&)
(3) (&) (). (). (d). ()
(4) (e (c). (d). (). (b)

Options :

53622814605. 1
53622814606. 2
53622814607. 3
53622814608. 4

Question Number : 127 Question Id : 5362283748 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



qT54 AT51 990 44 & =007 F T51 F5 § Fad 91

(a) BRI iEC R i e e it R e e e e T ]
(b)  =EEE I W F 3EE FAl

(d)  ToIH 9T ° GOE T AT Sl i g

(e) FH1 AR TFE F AT A1

I 29 ™ T § ¥ 18 I F 9 H1

(1) (a). (b). (d). (c). (e)
(2) (b). (d). (c). (a). (e)
(3) (e). (b). (e). (d). (a)

(4) (e). (c). (d). (a). (b)

Options :

53622814605. 1
53622814606. 2
53622814607. 3
53622814608. 4

Question Number : 128 Question Id : 5362283749 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Give the correct sequence of apparel production in a apparel industry
(a) Production pattern and grading

(b) Costing and scheduling

(c) Assembly

(d) Marker making

(e) Cutting

Choose the correct answer from the options given below :

(1) (b). (a), (d). (e). (c)
(2)  (b). (a). (). (d). ()
(3) (a). (b). (c). (e). (d)
(4) (o). (d). (e). (b). (a)

Options :

53622814609. 1
53622814610. 2
53622814611. 3
53622814612. 4

Question Number : 128 Question Id : 5362283749 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g T § 9 S0 6 A $H S|
(a)  WisHer d2d ug ufE

(d)  HER B

(e) EAL|
fo=ferigs faseTl 5 @ w91 3 g

(1) (b), (a). (d). (&), (c)
(2) (b). (a). (e). (d). (c)
(3) (a). (b). (c). (e). (d)

(4) (c). (d). (e). (b). (a)
Options :
53622814609. 1
53622814610. 2
53622814611. 3
53622814612. 4

Question Number : 129 Question Id : 5362283750 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Give the correct sequence of manufacturing acrylic fiber
{(a) Dissolving

(b) Filtering

(c) Spinning

(d) Polymerization

(e) Stretching

Choose the correct answer from the options given below :

(1) (d), (a). (b). (c), (e)
(2) (a), (b), (c). (d). (&)
(3) (a). (d), (b). (c). (e)

(4)  (d), (b). (c). (e). (a)

Options :

53622814613. 1
53622814614.2
53622814615. 3
53622814616. 4

Question Number : 129 Question Id : 5362283750 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U {ereh g = T o E@E % A

(a) =i
(b) EIEE
{c) EfNGE]

-

(d)  UieIETES T

(e) =T

frAfertga fawedl 9 9 =3 397 =1 =9 i

(1) (d). (a). (b). (c). (e)
(2) (a). (b). (c). (d). (e)
(3) (a). (d), (b). (c). (e)

(4) (d), (b), (c). (e). (a)
Options :
53622814613. 1
53622814614.2
53622814615. 3
53622814616. 4

Question Number : 130 Question Id : 5362283751 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Arrange the steps of flower arrangement in correct sequence
(a) Cut the stalks of flowers in the desired length

(b) Arrange the flowers in order of length in container
(c) Collect all the required material

(d) Add water in the container

(e) Anchor pin/stem holder firmly in the container

Choose the correct answer from the options given below :

(1) (a), (d), (b). (c). (e)
(2) (b). (a). (c). (d). (e)
(3) (a). (e). (e). (d). (b)

(4 (o) (a) (e). (b). (d)
Options :

53622814617. 1
53622814618. 2
53622814619. 3
53622814620. 4

Question Number : 130 Question Id : 5362283751 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



qo3 T % U2 B FHH H A H

(a)  T9 Sad FI I=aa wEEE a9 we

(b) N FI U H AT F AT FEEAT FAT
(c) =i wEvES FEgAl F HUE WAl

(d) I H 9 S

(e)  UH A TF /20 wiwst ® 2241 & =T
=T e 9 @ o8 e =

(1) (a). (d). (b). (c). (e)
(2) (b). (a). (e). (d). (e)
(3) (a). (e). (e). (d). (b)

(4) (c). (a). (e). (b). (d)

Options :

53622814617. 1
53622814618. 2
53622814619. 3
53622814620. 4

Question Number : 131 Question Id : 5362283752 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following stages of moral development in the correct order

{(a) Social order maintaining
(b) Instrumental purpose

{c) Heteronomous morality

(d) Social contract orientation
(e) Universal ethical principles

Choose the correct answer from the options given below :

(1) (c). (a). (b). (d). (e)
(2) (a), (b). (c). (d). (e)
(3) (a). (c). (b). (e), (d)

(4) (c). (b). (a). (d). (e)

Options :

53622814621. 1
53622814622.2
53622814623. 3
53622814624. 4

Question Number : 131 Question Id : 5362283752 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e T & Efeiga = %1 HE Y H STaim &
(a)  EEIFEE ST 199 T

(b)  HEEF I

(c)  wRAA Afeahe

(d)  =mEEE sEEY o=

(e) wrEuifos wr=r w94 faam

frfefaa fasedi 4 8 98 I * 959 W ;

(1) (c). (a). (b). (d). (e)
(2) {(a). (b). (). (d). (&)
(3 {a), (c). (b). (&), (d)

(4) (c). (b). (a). (d). (e)

Options :

53622814621. 1
53622814622.2
53622814623. 3
53622814624. 4

Question Number : 132 Question Id : 5362283753 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following reflexes in the correct order of their disappearance
(a) Stepping

(b) Moro

{c) Rooting

(d) Babinski

{e) Palmer grasp

Choose the correct answer from the options given below :

(1)  (a), (b), (e). (). (¢)
(2) (b). (a). (). (d). (e)
(3) (c). (a). (e). (b). (d)

(4) (d). (a). (b). (). ()

Options :

53622814625. 1
53622814626. 2
53622814627. 3
53622814628. 4

Question Number : 132 Question Id : 5362283753 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



frAfeatigs afatEaTst #1 3% 9o 99 & T8 F0 § SEndT 9

o

(a) E=ain|
®) AR

(€ =
(d)  sifa==h

= o T fawed 4 O o T o = o

(1) (a). (b). (e). (d), (c)
(2) (b). (a). (c). (d). (e)
(3) (c). (a). (e), (b), (d)

(4) (d), (a). (b). (c). (&)

Options :

53622814625. 1
53622814626. 2
53622814627. 3
53622814628. 4

Question Number : 133 Question Id : 5362283754 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



The stages of "development’ of a relationship as given by mark Enapp are

(a) Integrating
(b) Bonding
(c) Experimenting

(d) Initiating

(e) Intensifying

Choose the correct answer from the options given below :

(1) (a). (b). (c). (e). (d)
(2) (c). (d). (e), (b). (a)
(3) (d), (c). (), (a). (b)

(4) (d). (e). (c). (a). (b)

Options :

53622814629. 1
53622814630. 2
53622814631. 3
53622814632. 4

Question Number : 133 Question Id : 5362283754 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o1 A9 g FEERY % Hed § WEgd Tae e E

(a)  =EEA

(b)  w=H

(c) AT

(d) =@ =

(e) GIPGINGIE]

I o3 ™ e 4§ 59 S o 9 1

(1) (a). (b). (c) (). (d)
(2) (c). (d), (e), (b). (a)
(3) (d), (c). (e). (a). (b)

(4) (d). (e). (c), (a), (b)

Options :

53622814629. 1
53622814630. 2
53622814631. 3
53622814632. 4

Question Number : 134 Question Id : 5362283755 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the correct order of the 5 elements of communication 1n the Shannon and Weaver's

model?

(a) Transmitter

(b) Receiver

(c) Information source

(d) Channel

(e) Destination

Choose the correct answer from the options given below :

(1) (a). (b), (d). (e). (c)
(2) (c). (a). (b). (e). (d)
(3) (c). (a). (d). (b). (e)

(4) (a). (b). (c). (e). (d)

Options :

53622814633. 1
53622814634. 2
53622814635.3
53622814636. 4

Question Number : 134 Question Id : 5362283755 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



I #T SieE Hisel § TEgA dUN0 AT 5 U2 1 TRl HE T R 7

(@)  HUTH (ZTEHRE)
(b) TTHERA]

(¢) T H EA
(d) =

(e) T
f9 =9 ™ ==t O 5 58 = = == o

(1) (a), (b). (d). (e). (c)
(2) (e). (a). (b). (e). (d)
(3) (e). (a). (d). (b), (e)

(4) {a). (b). (e). (e). (d)

Options :

53622814633. 1
53622814634.2
53622814635. 3
53622814636. 4

Question Number : 135 Question Id : 5362283756 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Steps for executing Action Research are :

(a) Fact finding

(b) Formulation of problem

(c) Selection of research procedure and 1mplementation
(d) Review of literature

(e) Brain storming and generation of hypothesis

Choose the correct answer from the options given below :

(1) (), (b). (d), (a). (c)
(2) (a), (e). (b). (d). (c)
(3) (d). (a), (b). (e). ()

(4) (b). (a). (d). (e). (c)

Options :

53622814637. 1
53622814638. 2
53622814639. 3
53622814640. 4

Question Number : 135 Question Id : 5362283756 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FTATE 94 (Action Research) = T =‘§ = 3
(a) A W UAT SAT

(b)  THEET = T

(c) SATATH WA 1 =TI U R
(d) HTEca-AHAT T BHIET (Review of Literature)

(e) qfF FE (Brain Storming) T8 TS B SAE

ety =T 3 3 =8 370 %1 999 9

(1) (e). (b). (d), (a), (c)
(2) (a). (e). (b), (d). (c)
(3) (d). (a). (b). (e), (c)

4 (b (a). (d). (e). (¢)

Options :

53622814637. 1
53622814638. 2
53622814639. 3
53622814640. 4

Question Number : 136 Question Id : 5362283757 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one 1s labelled as Assertion (A) and the other 1= labelled as

Eeason (R):

Agzertion (A):  Vitamin C supplementation may help to alleviate side effects of
chemotherapy

Eeaszon (R) : Vitamin C has shown to promote the cytotoxic effect of antineoplastic

agents from killing tumor cells.

In the light of the above statements, choose the most appropriate answer from the options

oiven below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
{3 (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 18 true

Options :

53622814641. 1
53622814642. 2
53622814643. 3
53622814644. 4

Question Number : 136 Question Id : 5362283757 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



9 21 %= feu T 2« us sAfaeys (A) B 3 gET 9% (R) 2

AUFIT (A) forerfim = =it B ¥ § o1 | FHGA F gearEl § w8 b 2

FAI (R) faaifim = 3 =z oo & fo =gm FfoeR 6t 98 9 % %9 § vdfsiraites vee &
IS TqTEl 1 qasa g

T feu o syfirmer & Tl O e feu o faeedi B B wE 3w A

(1) (A) 3 (R) eH =& 2 791 (R), (A) F1 w81 sifisafe 2
(2)  (A) 3 (R) THI #F1  a91 (R), (A) 1 5 sifeat 741 2
(3)  (A)®A & #fA (R) 774 2

4)  (A) A dfE (R) 5E1 2

Options :

53622814641. 1
53622814642. 2
53622814643.3
53622814644. 4

Question Number : 137 Question Id : 5362283758 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statement: one 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R):

Assertion (A) : Cap height measurement 1s crucial for the hang and fit of the sleeve.

Reason (R) : More the cap height more difficult 1s the lift of the arm and lesser the cap

height more comfortable 1s the Iift of the arms.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true

Options :

53622814645. 1
53622814646. 2
53622814647.3
53622814648. 4

Question Number : 137 Question Id : 5362283758 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



faFF fao T 2 v AlaEe (A) R e T aE R) B

r o

AT (A) : F1 #1 Sf=E W1 A, @79 % (e vag 77 (Hang) & o0 ®reag 7

=0 (R) : ¥ 1w TAaA] S 76N, WiE W 33 3699 7 HiEA 7 AR W ) e faad

F9 £11, |iz ® I2F 3097 Bl AWHEEF 20|
T feu o st = vt | i B T et 0 9 oE T =

D) @ ¥R ®) T A E A ®), @) F et 2
@ @ s @) I A E e ®). Q) F o s
3 (&) FE T R) T

@) (A T 7 A (R) 7E 7

Options :

53622814645. 1
53622814646. 2
53622814647.3
53622814648. 4

Question Number : 138 Question Id : 5362283759 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements : one 1= labelled as Assertion (A) and the other 1= labelled as

Reason (R):

Assertion (A): A room with dark coloured walls will require more light sources to get

reflective light levels.

Rea=on (R) : The illumination in a room with dark colour walls will be distributed

farther and more evenly as the light 1s reflected from surface to surface.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2} Both (A) and (R) are true but (R) 1s not the correct explanation of (4)
(3) (A) 1= true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options :

53622814649. 1
53622814650. 2
53622814651.3
53622814652. 4

Question Number : 138 Question Id : 5362283759 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



H 31 e f2u T 2 - v i (A) 2 ¥R gET A (R) 7

AT (A) - el T 7E AN A A T F WEa T H 9 S e atas 1w & Fe

=+ ATEITIRAT I=Al 7

10T (R) T TN AR A A 0 S8 A9ET O AaE § gE Haw W WEiaa $l sl # Al

T T A o 7 9 Atas JEe w2
Fu feu o st 6 ger F 9= e o e | 9w e o

(D) (A) T (R) 3= =8 9 (R), (A) Fr o afgsats 2
@ (&) R T T E T R), (A) F e
(3) (A)FA 2 & (R) T 7

4) (A 7 7 =i (R) 99 7

Options :

53622814649. 1
53622814650. 2
53622814651. 3
53622814652. 4

Question Number : 139 Question Id : 5362283760 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1= labelled as Assertion (A) and the other 1s labelled as
Reason (R):

Assertion (A):  Socialization refers to ~ the process of inducting the individual into the
soclal and cultural world; of making him a particular member In society

and 1ts various groups.

Reason (R) : Through sociahization children and adolescents learn ways of their
everyday lives and acquire skills of social interaction within the family.,

with their peer group and other social groups.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1= false but (R) 1s true

Options :

53622814653. 1
53622814654. 2
53622814655.3
53622814656. 4

Question Number : 139 Question Id : 5362283760 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 3t e T3 e # : uh aAfea (A) # o e @ (R) B
“AfiTFaT (A) - Tt w1 Ad TR =T w0 amifas 3T apfas ufEe § afefas e

T (R) T hT=A F AW | 9= 3R fan a9 foF ufates % Sfea ofH % 9l g w

= U B ATH A A
T T2u v sfumeEt 1G9t § e few e el 3 6 w8 I o

(1)  (A) 317 (R) 341 T& 7 791 (R), (A) F1 787 w3fq=ars 7
2 (A) 3R (R) T4 FF E 991 (R), (A) i wE st 6 2
(3) (A TA E = (R) T4 &

(4 (A) T 2 A (R) TR R

Options :

53622814653. 1
53622814654. 2
53622814655.3
53622814656. 4

Question Number : 140 Question Id : 5362283761 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one 1= labelled as Assertion (A) and the other 1s labelled as

Reason (R):

Asszertion (A):  Techmical problems are related to the interpretation of meaning by the

recelver as compared to the intended meaning of the sender.

Reason (R) : Semantic barriers are related to speech and language.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s correct but (R) 1= not correct

(4) (A) 18 not correct but (R) 1s correct

Options :

53622814657. 1
53622814658. 2
53622814659. 3
53622814660. 4

Question Number : 140 Question Id : 5362283761 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=1 21 e f3 M0 2w i (A) 7 #R g 9 (R) #

AFA (A) : UTE h T9W % AIYd A i g B HW WAl g1 IEedT @9 e S e

TEFATE IO O TEtd B

=P (R) : .':,Z[Qf—'.l:m_r- : WW" F qunﬂaﬁmﬁgl
F f3u T sifieRyi = T 4 A B e e 0 E wd e o

(1)  (A) 31 (R) 41 521 7 991 (R), (A) =1 =& sAfy=ats 2
@ (&) 3 ®) I T E o (R), (&) F A st w2
(3) (AT ? AfF (R) T4 7

(4) (A) T 7 =i (R) 971 7

Options :

53622814657. 1
53622814658. 2
53622814659. 3
53622814660. 4

Sub-Section Number : 2
Sub-Section Id : 536228147
Question Shuffling Allowed : Yes

Question Id : 5362283762 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (141 to 145)

Question Label : Comprehension



Read the passage and answer the question Numbers 91-95 based on 1it.

India has only 3% of the world's land resources and 5% of the world's water resources.
Yet India 1s the second largest food producer in the world and second in production of fruits
and vegetables. On the contrary. Indian Medical Council in 2015 reports that 12-13% of the
population in India die due to non-availability of nutritious food: and 25% of Indians go to
bed without food. Why 1s there such discrepency in India?

The reazons may be clubbed under three broad classifications First. production of food
crops that do not satisfy nutritional needs (nutritional unavailability). second, healthy foods
are beyond purchasing power of the poor (unaffordablity). third, weak supply chain and
failur of government intervention that still prevents dissection to exercize their right to food
(nutritional Inaccessabihity).

Our food production has reached the capacity to provide one third of the popultion with
adequate food grains under NFSM. But to ensure nutritional security we have to focus on
existing agricultural methodologies. We have to shift cropping pattern from cereals to
nutrient based one that promotes horticulture. coarse grains, pulses and millets Horticulture
production has doubled over the vears according to WNM.

An Indian has access to only 2455 Kcal/day which 1s much lower than 3000 Kcal of
European countries, FAO/WHO recommends atleast 400 gms of fruits and vegetables per
day Indians cannot even manage to get half of the daily target. Government should promote
domestic nutrition needs by Government ensuring quality seeds, promotion of integrated
pest and disease mangement encourage peri-urban vegetable farming and roof gardens to
grow vegetables. School premisis that raise vegetable and greens will have nutritional
impact. Recent Increase in the mimimum support price of pulses and their inclusion in
National Food Security Mission 1s a welcome step. Organic farming should be put forward as
an alternative better farming practice. As nutrient dense food 1= expensive. so food
fortification can help it to reach the poor. Non-availability of nutritious food leads directly to
poor guality hife, loss of productivity. poor mental development, increased health cost and
decreased school days. The demographic divide now 1s turming into demographic hahiblity.

Sub questions

Question Number : 141 Question Id : 5362283763 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In fruits and vegetable production. India stands —

(1) 1st (2) 2 nd (3) b5th (4) 10th

Options :

53622814661. 1
53622814662. 2
53622814663. 3
53622814664. 4

Question Number : 142 Question Id : 5362283764 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



According to Indian medical council report 2015 the persons who die due to the

non-availability of food are (1n percent)

(1) 10 (2) 13
(3) 20 (4) 24
Options :

53622814665. 1
53622814666. 2
53622814667. 3
53622814668. 4

Question Number : 143 Question Id : 5362283765 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Measures that encourage pulse production are.

(a) Shifting to nutrient dence crop

(b) Minimum support price for pulses

(c) Inclusion in the National Food Security Mission
(d) Encouraging more calorie consumption
(e) Recommending consumption of 400 g fruits

Choose the most approproate answer from the options given below :
(1) (a). (b). (e) only
(2) (c), (d), (e) only
(3) (a). (b). (c) only

(4) (c). (a). (e) only
Options :
53622814669. 1
53622814670. 2
53622814671.3
53622814672. 4

Question Number : 144 Question Id : 5362283766 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Measures to ensure nutrition security

(a) Shift from cereal to nutrient dense cropping pattern
(b) Food fortification

(c) Good guality seeds

(d) Providing packed foods

(e) Peri urban vegetable gardens

Choose the most approproate answer from the options given below :
(1) (a). (c). (d), (¢) only
(2) {(a). (b). (d). (&) only
(3) (b). (c). (a). (d) only

(4) (a). (b). (c). (&) only

Options :

53622814673. 1
53622814674. 2
53622814675. 3
53622814676. 4

Question Number : 145 Question Id : 5362283767 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Non-availability of nutrtive foods lead to:

(a) Poor quality of life

(b) low productivity

(c) poor mental development
(d) more health cost

(e) unemployment

(f) low literacy rate

Choose the most appropriate answer from the options given below :

(1)  (a). (b). (d). (c) Only
(2)  (b). (o). (a). () Only
(3) (b). (e). (d). (f) Only
(4) (a). (c). (e). () Only

Options :

53622814677. 1
53622814678. 2
53622814679. 3
53622814680. 4

Question Id : 5362283762 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 5362283763 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT U7 TEA4] & I 0 9Fd 57 T F —

(1) = (2) == (3) ar=El (4) =ma

Options :

53622814661. 1
53622814662. 2
53622814663. 3
53622814664. 4

Question Number : 142 Question Id : 5362283764 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks :

e fafee ofe % 2015 i fe 5 wom, @@ sHTeEsE F FEm 2F gl g5 f F@ v

"3
(1) 10 (2) 13
(3) 20 4 24

Options :

53622814665. 1
53622814666. 2
53622814667. 3
53622814668. 4

Question Number : 143 Question Id : 5362283765 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TE ITE A T F I0EA F] AR B

(a) 99 dedl B WO FHC il AR foe 2
(b) =Tl w AAH TEUT T

(c) U WTE T AT H AIEA w6

(d) AT HeAlaT = ITHM F AEANE BT

(e) 400 TH FeAT =1 ITHTT FA T TFE =T

= et |5 © 99t 39 = =99 i

(1) a4 (a). (b). ()
(2)  Fad (e). (d). (e)
(3) Fa7 (a). (b). (c)

(4) F44 (c). (a). (e)

Options :

53622814669. 1
53622814670. 2
53622814671. 3
53622814672. 4

Question Number : 144 Question Id : 5362283766 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

T FIET G S 39

(a)  FATE o WifEE deat I ATHIE BESA & U2 il AR "aged
(b)  TETE HIT

(c) el AT 9T |

(d) % T T IS TUeEy FEE

(e)  IIEtl ST * 3 1% meA! T

=1 o © wartas g I 1 W

(1) (a). (c). (d), (e)
(2) (a). (b). (d). (e)
(3)  (b). (e). (a), (d)

(4) (a). (b). (c). (e)

Options :

53622814673. 1
53622814674. 2
53622814675. 3
53622814676. 4

Question Number : 145 Question Id : 5362283767 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



THEF 9T HAATEAREAT o B HEAl R

(a) T ToEE ) AEA
(b) T FEEE

() = AmmE fawm
(d) e =T A A
(e) =TI

() b BRI AT s

=1 9 9 waifas 299w 39 1 =994 H

(1) (&), (b). (d). (c)
(2) (b). (c). (a). (e)
(3) (). (e).(d). D
(4) (a). (c). (e). (D

Options :

53622814677. 1
53622814678. 2
53622814679. 3
53622814680. 4

Sub-Section Number : 3
Sub-Section Id : 536228148
Question Shuffling Allowed : Yes

Question Id : 5362283768 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension



Eead the passage and answer the question number 96 to 100 based on 1t :

Research around the world shows that child labour and poverty are intimately linked.
However. it 1s also known that the specific circumstances of child labour are influenced by
manyother factor. Thus, parental illiteracy. non-accessibility of schools. social and cultural
milieu. and 1neffective enforcement of legal provisions pertaining to child labour are some of
the significant causes of child labour. However, no cause can justify the existence of child
labour. There 1= complete loss of invaluable childhood with near permanent damage to social

development. Lack of education forces children into the worst employment prospects as
adults.

Although the labour of young children of both sexes 1s exploited. the plight of the girl child’s
labourer 15 worse off. She 1s a child. a girl. and a labourer. She faces discrimination on all

counts — in almost all areas — rural and urban. Girl child labour 1s prevalent in the following
areas :

L Household work
. Agriculture work
L Bonded labour

L Domestic service

Sub questions

Question Number : 146 Question Id : 5362283769 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which two of the folowing options refer to the factors linked to child labour as stated in the
paragraph?
(a) Parent’s Education
(b) The Indian justice system
(c) Mother's attitude

(d) Child’s lack of interest in the schoohng

Choose the most appropriate answer from the options given below :
(1) (a) and (d)
(2) (b) and (c)
(3) (a) and (b)

(4) (a) and (c)



Options :

53622814681. 1
53622814682. 2
53622814683. 3
53622814684. 4

Question Number : 147 Question Id : 5362283770 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What harm does child labour cause to children? From among the following options which one
1s incorrect with reference to the paragraph?

(a) The children become delinquent

(b) The children do not develop social skills

(c) The children are not able to find quality jobs as adults

(d) Child labours are rejected by society

Choose the most appropriate answer from the options given below :

(1) (a) and (b) only
(2) (a) and(c) only
(3) {c) and (d) only

(4) (b) and (¢) only

Options :

53622814685. 1
53622814686. 2
53622814687. 3
53622814688. 4

Question Number : 148 Question Id : 5362283771 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The plight of gir] child labour 1s worse than that of the boy child because:

(a) She 1s a labourer

(b) She 1s a child

(c) She is a girl

(d) She 1s weaker than a boy

(e) She does not go to school

Choose the correct answer from the options given below:

(1) (a), (b). (c) only
(2)  (a). (c).(e) only
(3) (b). (c).(e) only

(4) (a). (b). {(e) only

Options :

53622814689. 1
53622814690. 2
53622814691. 3
53622814692. 4

Question Number : 149 Question Id : 5362283772 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
Which are the areas of labour in which the girl children are found to be employed?

(a) House hold work
(b) Agricultural work
(c) Tuitions to school going children
(d} Bonded labour
(e) Sanitation worker
Choose the correct answer from the options given below:
(1)  (a), (b). (e) only
(2) (a). (b). (d) only
(3) (b). (¢). (d) only
(4) (c). (d). (e) only
Options :
53622814693. 1
53622814694. 2

53622814695. 3
53622814696. 4



Question Number : 150 Question Id : 5362283773 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The eirl child 1s engaged for labour usually in:

(1) Tea shops (2) Railways (3) Factories (4) Domestic work
Options :
53622814697. 1
53622814698. 2
53622814699. 3
53622814700. 4

Question Id : 5362283768 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 5362283769 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



freAfafaa 5 @ %9 7 21 fawey A9=22 § T3fhd T998 ¥ 33 70 FH § Hatad 27

(a)  =IraaTEEE F e
(b)  HIHME =E ==
(c) =l ATl

(d) == i fvam & ufg sk

(1) == (a) T (d)
(2) Fa (b) T (c)
(3) F ()T (b)

(4) A (a) T (¢)

Options :

53622814681. 1
53622814682.2
53622814683. 3
53622814684. 4

Question Number : 147 Question Id : 5362283770 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1 99 | T T TRAH FI1 £ ¢ ATw8e % HeY § FHefeiiad Y 0 H i A3 H9T T A 7

(a) == gt 7 2

(b) == H HHITAF FITA 1 =FFE TH =
(€) == F 997% FH W o SE AH0A 94 ° 54w A 7|

(d) = 99 ) GETH FFATEE T 2]

(1) == (a)3 (b)
(2) FAA(@)T (o)
(3) FAA(@F (d)

(4) F49 (b) 9 ()

Options :

53622814685. 1
53622814686. 2
53622814687.3
53622814688. 4

Question Number : 148 Question Id : 5362283771 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(a) =% TF 4mE E
(b) @ UF F=T A
() == UF == 2
(d) =% =i5® ° s FHAN 2|

(6) % THd Al =l 7

(1) Fae (a). (b). (c)
(2) A (a), (@), (e)
(3) A (). (). (&)

(4 T (a). (b), (e)

Options :

53622814689. 1
53622814690. 2
53622814691. 3
53622814692. 4

Question Number : 149 Question Id : 5362283772 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o9 T &1 ° Aol i O e 2 7

(@) =i wHE

(b)  F wE

(©)  TFd T 91 w= I E=EH 2
(d)  ==E H=El

(e) T=adl AT

o= faes =4

(1) & (a). (). (e)

(2)  F= (a). (b). (d)

(3)  F= (). (). (d)

(4)  FAA (c). (). (e)

Options :

53622814693. 1
53622814694. 2
53622814695. 3
53622814696. 4

Question Number : 150 Question Id : 5362283773 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

(1) =mfFTFAT (2 FHE (3) wFA T (4 e wEEH

Options :

53622814697. 1
53622814698. 2
53622814699. 3
53622814700. 4



